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SECTION -1
gug — |
CHILD DEVELOPMENT AND PEDAGOGY
T forera wa e

There are 30 questions in all in this section.
All questions are compulsory.

39 @UE § el 30 T ¢ |
Tt v FrFEE |
Which among the following is not a major period of cognitive development given by
Piaget ?
(A) Sensorymotor stage (B) The pre-operational stage
(C) Cyclic stage (D) Formal operations

format grr few o ggTenss faema % fagia # frefelaa & & . a1 fashr 1 yq@ et
g7

(A) FaH feaf (B) TE-wisraTerh fefe %‘%

(C) shi = (D) 3= Tt B
Mental activity that goes on in the brain when a person is processing information is called :
(A) Learning (B) Mental imagery

(C) Thinking (D) Concept

STe WIS Sl G I THIIG L & BT & al HiEash H e arell WM Thafafa
Eb?ﬂ'l?ﬁ%:

(A) 3t (B) | sheddT

(C) fermmor (D) TeheuHT

Which of the following has not been shown to help maintain a healthy level of cognitive
functioning ?

(A) Participating in games (B) Working crossword puzzles

(C) Sedentary lifestyle (D) Reading .

frfefiga § & S o1 G9HeTS SR 9Gfd % TET TR Bl Y T H " B o fod
SUHI TE B 7

(A) ShIST | 9T o (B) ShIE-d€ Tgell TX T LT

(C) ITHIA e Seft (D) U BT

“Life presents a continuous chain of struggle for existence and survivals.” is said by

(A) Darwin (B) Shaffer

(C) Jerslid (D) Spencer

Shar, SIfEdIea < FE 37X ST ToT hl Teh Fad J@a T&d il & | 4 foheeh gy st T
27

(A) eifea (B) W

(C) s (D) T



The three pillars of education are
(A) Teacher, Student, Curriculum

b

and

(B)

(C) Education, Methodology, Teacher (D)

e % i T U E

g

Principle, Teaching, Aim

Importance, Teacher, Objectivity

(A) Treres, BT, TR

(C) Turam, feranfafer, e

Dyslexia is :

(A) Difficulty in reading skills
(C) Difficulty in writing spellings

fiaoe Hed & :
(A) UG T HiSTS

(C) ot forem o igaTg

Formula of IQ is :
MA

(A) CA X 100
CA x 100

© —Ma

g Al e H1 g e

MA
(A) CA X 100

CA x 100
© —Ma

Assimilation is :

(B)
(D)

(B)
(D)

(B)
(D)

(B)

(D)

(B)

(D)

e, foeeh, aeqsa

Difficulty in understanding maths

Difficulty in competing

TIfore THE § i
Tfceget § shiers

CA
MA

x 100

MA
BA * 100

CA
MA

x 100

MA
ﬁx 100

(A) Current schema to interpret the external world

(B) Process of changing to better
(C) Adapting to internal world

(D) None of these
FATHETHIT 2

(A) IH ThIGT 3T JANT STl ST o fareetyor & fotg

(B) gt # wger i ufsha
(C) 3TTaReh G < TR B

(D) A HE off T



10.

11.

Which among the following doesn’t fall under the classification of mental retardation ?
(A) Mild retardation (B) Moderate retardation

(C) Severe retardation (D) Acute retardation

frferfaa 9 9 F 91 AT Hedr o Siientur o 3Taid T8] 3T 8 ?
(A) Ecohl Hedl (B) weH Hedll

(C) T HEar (D) e wea

A series of pictures is shown to the subject and he is asked to make a story, is used in

projective technique.

(A) TAT (B) Role Play EiE

(C) Rorschach (D) Dramatic Production

SafeR w1 fol 6t uh Jgen fowms St # 3R 38 wh wEr S % o % 9 2, 9%
&yt qehrieh H SR TohaT ST & |

(A) U TIIIT TH&T0T (B) Yftrert frafe

(C) Usieh (D) ATeehi Tl

Which among the following is not a subjective method to assess personality ?
(A) Individual history (B) Interview technique

(C) Inventory technique (D) Rating Scale
Fraferfaa # @ s = safdae &1 3tehe A & ford v safaqma fafar adi g 2

(A) =TT shagmE (B) HT&TRR aohrish

(C) &Y= Taemdleh (D) Tericor Ao



12.

13.

14.

15.

16.

proposed the theory of multiple intelligence.

(A) Howard Gardner (B) Freud
(C) Binet (D) Thurstone
3 9g-gfg w1 fagra wearfad fHan |

(A) B MER (B) WS

(©) fo (D) ¥&H

According to Right to Education Act, 2009, no school to be established without obtaining
certificate of :

(A) Appreciation (B) Recognition

(C) Terms and Condition (D) Authorization

RTE Ffufrm, 2009 & 3R, Fefatea fea smmor-wa & fom % foemer wenfia &
[ERISIEUI

(A) e (B) W=l mm

(C) frmwa ard (D) WiferspR ﬁﬁ‘ﬁ

Any relatively permanent change in behaviour or behavioural potential produced by
experience is called :

(A) Learning (B) Thinking

(C) Cognition (D) Motivation

3TV G 391 FER AT FAER AT H fepelt Hf 31ugmeha Tl ai@dd sl gl Siran
2|

(A) 3ferm (B) femmor

(C) Il (D) om

Which among the following is involved in learning process ?

(A) Physiological (B) Psychological

(C) Environmental (D) All of the above

freferfiaa o & i <t ufshan o st 8 —

(A) wifes (B) WA

(C) Ttaweft (D) ST Tt

The is the immediate environment in which the individual lives.

(A) Microsystem (B) Mesosystem

(C) Exosystem (D) Chronosystem
1 feheam arareRen & fe =afed war g |

(A) H&H goredt (B) wHIéH

(C) A faeeH (D) hTcTshH



17.

18.

19.

20.

21.

RTE Act, 2009 directs working hours per week for teachers.

(A) 40 hrs. (B) 45 hrs.

(C) 42 hrs. (D) 48 hrs.

RTE 3tfafm, 2009 Rrerep! 3 T wfd geare foraw € s o o1 fenr aar g 2
(A) 40ew (B) 45®we

(C) 428w (D) 489w

Which out of the following is not a biological determinant of personality ?

(A) Nervous system (B) Ductless glands

(C) Somatic structure (D) Situational structure

frferiaa o @ s afaaca o1 Sifas fufes &g 7

(A) dbERT A (B) afe-ae it

(C) cfees wtam (D) fTeufos— g

Which of the following is not a general law of heredity ?

(A) Progression (B) Variation EiE
(C) Regression (D) like begets like Eﬁ?
frferRaa # & % e s A e i R 2

(A) wild (B) ®U=R

(C) wdwTHa (D) & YT g 8

As per Right to Education Act, 2009, Elementary Education means :
(A) Education from first to eighth class (B) Education before first class
(C) Education from 8th to 12th class (D) Education in middle school

RTE 31ferf=m, 2009 % aR yrifires e 61 312 2
(A) UEA HETT W 13T el deh hi &t

(B) 9y it & uget i e

(C) 3Tad & SREe el aeh hi fran

(D) et f3am

In the field of mechanism of heredity, modern studies have been done principally in which

direction ?

(A) Cytology (B) Biometry

(C) Experimental breeding of animal (D) All of the above
TSI o % 378 o & °, T e form feem <6t 3t s 8 7
(A) IR (B) Sftafufa

(C) SIHaRI &1 YRS It (D) 3ulred qeft



22,

23.

24,

25.

26.

Right to Children for free and Compulsory Education falls under Act :

(A) 2009 (B) 2012
(C) 2005 (D) 2010
Al ] o 3TR 3Tfame f3em =1 arferepr ferer srfarfem & s=mia sman g 2
(A) 2009 (B) 2012
() 2005 (D) 2010

In giving instructions to the mentally retardeds the teacher must keep in mind that they :
(A) are able to pass examination

(B) learn more vocational skills

(C) work hard to compete with normal children

(D) spend time in competitive games continuously

Tarerent 1 i w9 @ fafreg A w1 fréw <d wn 98 we e =R fe A
(A) oher el w H Eem R |

(B) 3ATereh SATIHTRI hivel H1E |

(C) I s=1 o A1 fereaer s o ford het ufsm &t |

(D) AR Sfeaeff wetl § gm fodrt |

Learning through Reward and Punishment is :

(A) Observational learning (B) Social learning

(C) Operant conditioning (D) Classical conditioning
TR T €U o HIeH § HiEA @

(A) SeTuTTeHeh SAfermy (B) @mMTrSeh 31ferm™

(C) oo srEe (D) ST STgee

Which of the following is not a step in conducting scientific research ?
(A) Conceptualizing a problem (B) Revising research conclusion
(C) Collecting data (D) Dynamic approach
Ifes STEE H i feen § freforfea § & 9 a1 s Hen aE R 7
(A) U qHET ! TR (B) @Y sy s

(C) 3R ATt Tehel AT (D) Trfersfed gfeepror

of the test refers to the consistency of scores obtained by an individual on the
same test on different occasion.

(A) Reliability (B) Validity

(C) Objectivity (D) None of these

Tequr <ht o1 TeH g1 i STaEl W T & Wt R e safd g e wreieht Y
AR |

(A) Tovagerar (B) Qe

(C) =g (D) STH § g &



27.

28.

29.

30.

Sita works at a day care center. The pay is low and hours are long. But she loves being
around children & has no desire to look for a higher-paying job. Sita’s motivation appears
to be :

(A) Intrinsic (B) Extrinsic

(C) Selfish (D) External

AT Ueh S hal Tt T hTH hid! & | o= HH & TR hH o 6 T« &, I 98 =1 o ATHITE
TET TEE Hidl § 3 I dc drelt Fehll Y qelrel i shi 1S goal 781 wdt 8 | &iar i
JTOTT fopH TehR hl Tl B 72

(A) IATNH (B) wr&x
(C) et (D) wrEl

In the identification of the gifted, we must give priority to :

(A) the parents’ opinion (B) result of objective test

(C) teachers’ opinion (D) the community viewpoint
SfcTeTTett <t Tg= | g6 STafHehdT ¢t 9fed g%??
(A) wrar-Toar it (B) SRS qltedT w1 qiomm EEE
(©) foeri i (D) eI e

According to Freud, the primary structural elements of personality are :
(A) Conscious, Subconscious, Unconscious

(B) Id, Ego, Super-ego

(C) Pleasure principles

(D) Defence mechanism

IS % AR, SAfedcd o TUTHeh TLa-TcH ad & :
(A) =dq, TIHdH, I (B) 3c¢H, 3T=8H, W'Y
(C) Mg & fgrd (D) T&rTeHe Shfsma

Tendency of body to maintain a steady state is :

(A) Homeostatic (B) Balance
(C) Fostering (D) Drive
TR 37ereT SR T o ToTdl IR 31 Sl ol gl ST & -
(A) wHfEdfd (B) HgeH

(C) wQTe ¢l (D) oM



31.

32.

33.

34.

3S.

36.

37.

38.

wus - 11
HET -1

=

39 @V T pet 30 TH B |
et T AHER # |

Treqor Uy H Y T FTHEL T I HEw@qUl ITeH & - %ﬁ
(A) g&o e (B) = freqor
(C) TS AT (D) fires fareor

TH Tl B A fosbr o i | BiaT 2, Heu, faw, 7 wifkat st 8 3 g famm
o A & |’ T SToTeh o fohd et o fATu haT @ 2

(A) T HA o few (B) Uig & & ferw

(C) TorutR w1t & foTu (D) 39Te HeA o T

eyt ved, foww |amft W oy gen, fafay sfenfistt w1 smem, wErt, e, s
HRIHH AT, S o S T 3T Sieh AT 3eatte niafafert saor sivret fosha # forg T
o STeTehl o oW 2 7

(A) € ER (B) 3= Mfr =X
(C) Hile e & (D) TR e wR
= o T et S 1 gay 99 gan @ -

(A) 69 9Ty 3y o (B) 12% 1594 g ot
(C) 18¥ 21 oY g & (D) 219249 g &
Te=t Toreor & 1 eafrl S T ik EAT IERV ° foRE W % BEl % v wey a
A 8 ?

(A) TrR=R W (B) JAT TR T

(C) By (D) g TR W

T3 -J&ehi o HT=IIeh awdl § & =1 a8 —

(A) T (B) eht

(C) fer wmft (D) J=TT St

T S T < I fARIT |” 7% T TRR S -

(A) wgfahedd T (B) T I
(ORREECITER ] (D) @fiepel e
frefarRaa sreai ® e vt Y ST e arer 7o 8 -

(A)  Tarveaferar (B) Qe

(C)  fereamasha (D) SATERTERAT



39. Tdq Ud AT HodToh T ST & T T8 o avfl 81 Tehclt & ST
(A) TeTeh UETaTd U B, JTAieh Yelieh o dTfieh T&T o JTedTeh 7eiTT- 3Tl el |
(B) Twretent, S wd 3rfruTaent ol T -HHY W T=C A & |
(C) BT T I T T aTa o+ FT8d Ted & |
(D) T3rereh 9 B A1 Tl U o @ s 318 37 I & |

freferRaa et w1 Ugeht I 7T T o TR fAIRau : (Y99 9. 40 § 49)

Fgd G T 3R F5d 1o 9 HIST TgaTd et 311 g¢ foreft &R STem=mdy skt 1 T & &fveh b
T ST HHT 7 | 39 AT & 7 fewrg o, v, srar 3R frfoerar o1 fows et | v weh
IeTet < BT % o= T, IcTE I qcadn i v o shrenfe % Ty gedt fowr wet, 3ueh
ez T ST TN A1 HUTT | TH T Bl TG shiel VAT 2 2 | 8 Hifeeish Ot & ; ATHH 19 T |

TUS HIY 1 &l Ueh AU B | TSTCUS TSIhIT & 3T Alhehld THehIT & | &l USlehld UHehd
e = fomtg ue, ==l 30 U9 7 THgeR 9 oSy IS 1 9 THeET =gy | v i
TSI o Hawd 3T gfemrdr o1 31ferenr) 81 81 Hehdl | 3Heh! THE ST A9 foTu sTeaves 78 aae
Tehd |

40. DAL HI TG -

IO 0]
(A) Hl (B) Wf=a S
(C) =& (D) guY
41, ‘AR vse | HiRI hT ThR B -
(A) T EfR B) FhgHfa
(C) FwEfy (D) <rewfy
42. ‘HIAN Yo H GAE B -
(A) fogawm (B) g5 uud
(C) dcLey g™ (D) HUURT THH
43. fm=faRaa seci § wreaTes O3 e & —
(A) 38 (B) ¥
(C) ufema (D) ¥

o

44. TrafaRad seci | s wse & -

(A) 3B (B) #I&
(C) wferes (D) BMT




45.

46.

47.

48.

49.

50.

‘gl g b I S5l <hieT § ST Ug=Td =t AT BT Feheft B el <hl ST &1 &1 witeh b
&THT HHT B |” SR T {@ifehd g | {r9Ioor 1 YR 8 -

(A) TUTETEeh fersroT (B) Trfvaa ufwmorares fasmor

(C) rffyaa ufmmrarees feemor (D) GehaaTdeh for=Ior

F3rfreTar sree 4 T HT YRR B -
(A) HHATE Fd FeId (B) HUTETE %d T
(C) wTeeTee dfgd I (D) ToRATATE hd T

ag WTa TS HeaT o ee 81 |” — 9T % T U g B

(A) Tifcash (B) dfcareh
(C) 9Tt (D) ®Ted
EZE
PIT 312 1 foreTm wee B - o
(A) T (B) Hfud
(C) (D)
I I AT IR &
(A) 3T (B) S9ER
(C) 3w (D) g

frfarRaa et st Ugeht I8 7T TeHT o I fIRaT : (Y99 981 50-55 %)

R 3R A T 3R A faumar 39 ge@ 0 S 3R ITea TRk WiEl i gy
HIT 7 | Al HIE 36 T A AT 2 1 g ITh! Gg =, S et 31 317 & e Hiel 3 |
orET I8 fopeft =1 7 <ar | Afe sueh! wiE O ¢ oft T o 36ehT 38 [ &L BT Hifeh 3eehl
Tt w-wlt &; T SHhT g Al 2, H SR IR R, WP SERT YU IR 3G B
TIH & | WA ! =T, TeAH!, Raet -, 38eh sl i 3799 s=i il aE daT T,
G AR o I IHb H1Y Tl TSR ST 1 T 8 A § 7 €, iar 31 39 S e
fepart o o STt B, 312 firet %1 & | 7% Tk A Sl el € — <t Wiel fired Tue” Wit
wTet TR ol $38 370 el SIGT T M <aT & | ITehl FH <6l ol § & T 3TN 51 B -
TR ITeh T T ST @ | A Fhid o TaH A1Y 2 |

Taear 5o geg § St 3R 31y 3teanfaes wral 6l gfy tar 8 | freferfaa arei §
T@iferd ug & =1 37 @ arett a1 B -

(A) TRETHT § Y W@ 91T | (B)  3ATcHT Trareft M |

(C) STTCHT-TRHTCHT § HH-4 & a1 | (D) G- @01 Seme |




S1.

52.

53.

54.

5S.

56.

57.

S8.

59.

60.

oo

freforRad sregi ® sger= wIsg @ -

(A) gfE (B) &

(C) Td (D) T

‘OrET g fret R A a1 g | ST fra A 1 8 7

(A) 3l 9d (B) I wfersId e
(C) 91 ¥dehTel (D) A HTeA
frfefiga veci @ fir= forg 1 Sere 2

(A) 1Y (B) wepid

(C) =F=H (D) aH

R 3R T: T 3R Ta fauar 6o 7e@ Sl 3R 31eyd snenfaies wial i gy

1 ] | 9T B @ifehd ieg 1 Tl forg g

(A) foomdt B) fowm

(C) fourht (D) ferem

< TI o AT A1Y & |’ TR 1 U1 kT H SGoi W e g

(A) 3 THfd o FaM A1Y B | (B) 3 Wehfdl o ST A1Y & |
(C) A Whid < a A1Y B T | (D) ¥ I Yohfd & STaH |14 & & |
fFrferRaa amen o faemeres ot g -

(A) I B TRt B | (B) AUHINMEE |

(C) 3TIHT YT ST A% B | (D) 3R | 98 AT T |
TIAT o SR W e § 8 = a8 -

(A) & 91 (B) Tusr e

(C) TeTcHs are (D) G I

YT 5@ -TG ATG ST 378 i Tehe i aTeT aTo & —

(A) ©TE B (B) =gl Ul Tel

(C) =R heheht THTIM GEH] (D) =79 e

‘3T T 74T, TS T T AT T 7Y & -

(A) STH-SEreRT fod e 7 o | (B) qoia: se T |

(C) W9 IR HY A HTEA | (D) §fgd fobeg T0a= |
HIET w13t o freror 61w faferi & @ i fafr 2 -

(A) wryT T fafy (B) 3 fafy

(C) wa fafy (D) UTSA-Y&ish JuIe!



31.

32.

33.

34.

35.

36.

37.

38.

39.

SECTION - 11
LANGUAGE -1
ENGLISH

There are 30 questions in all in this Section.
All questions are compulsory.

Choose the correct option which is not a technique for speaking skills :

(A) Reproduction (B) Question — Answers

(C) Role play (D) Model Reading

According to Thompson and Wyatt, how many objectives are of teaching rapid reading ?
(A) Three (B) Four

(C) Five (D) Six

Who was of the opinion that reading ability can be developed by reading books in solitude
with ease, interest and pleasure ?

(A) Menon and Palet (B) Robert Lado .

(C) Rajgopalan (D) West Eﬁ!

Oral reading is also known as : B
ral reading is also

(A) Intensive reading (B) Silent reading

(C) Loud reading (D) Library reading

Checklist, Rating scale, Interview schedule and Anecdotal records are tools for :

(A) Summative Assessment (B) Informative Assessment

(C) Annual Assessment (D) Formative Assessment

Which of these is not a technique of evaluation ?

(A) Appropriateness (B) Effectiveness

(C) Imitation (D) Practicability

Check-list technique is used for evaluation :

(A) results, attendance, participation in games, sports.

(B) interest, attitudes and values of the students.

(C) of significant event and work performance of the students.

(D) None

Which one of these commissions and committees has not made recommendation to
encourage internal assessment through continuous and comprehensive evaluation ?

(A) Hartog Committee (B) Hunter Commission

(C) Mudaliar Commission (D) None

Which one of these is not objective of CCE ?

(A) To make the process of teaching and learning a teacher — centred activity.
(B) To make the process of teaching and learning a learner — centred activity.
(C) To help develop cognitive, psychomotor and effective skills.

(D) To make evaluation an integral part of teaching — learning process.

Read the passage and answer the Question Nos. 40 to 44 :

India today presents a very mixed picture of hope and anguish of remarkable advances
and at the same time of inertia; of a new spirit and also the dead hand of the past and of
privileges; of an overall and growing unity and many disruptive tendencies. Withal there is
a great vitality and ferment in people’s minds and activities.

It is remarkable thing that a country and people rooted in this remote past, who have shown
so much resistance to change in the past; should now be marching forward rapidly and with
resolute steps.



40.

41.

42.

43.

44.

45.

46.

47.

48.

49.

Choose the synonym for the word ‘vitality’ :

(A) lethargy (B) torpidity
(C) energy (D) externality
Choose the antonym for the word ‘anguish’ :

(A) ecstacy (B) agony

(C) excruciation (D) affliction

Choose the correctly spelt word :

(A) Fermantation (B) Presantation
(C) Picturesque (D) Resoluation

OB O]
‘Adverb’ for the word ‘disruptive’ will be : Egﬁ:
(A) disrupt (B) disruptively
(C) disruption (D) disrupter
Choose one word for ‘a tendency to do nothing or to remain unchanged’ :
(A) anguish (B) disruptive
(C) ferment (D) inertia

Read the passage and answer the Question Nos. 45 to 49 :

The rich can provide their children with all that money can buy : rich food; expensive
clothes, cars and every other imaginable comfort and luxury. But they simply cannot give
them what they need most — parental care and affection on a personal level for which there
is no substitute in the whole world. These children who are brought up almost entirely by
hired attendants develop a twisted personality. Their rich, busy and well-bred parents are
one day shocked to find that their children have developed some of the traits of their own
attendants which are, to say the least, considerable less than well-bred.

......... and every other imaginable comfort and luxury. Here ‘imaginable’ is :

(A) anoun (B) aconjunction

(C) an adjective (D) anadverb
Choose compound adjective from the phrase ‘well-bred parents’.
(A) well-parents (B) well-bred

(C) well (D) bred

Which one of these phrase has a determiner in it ?

(A) But they simply cannot give.

(B) The rich can provide their children all they need.
(C) There is no substitute.

(D) Hired attendants develop twisted personality.

‘These children who are brought up almost entirely by hired attendants develop a twisted

personality.’

Which tense is used in the above sentence ?

(A) Present perfect (B) Present continuous
(C) Present indefinite (D) Past indefinite

Which of the following has the three degrees of the adjective in their correct form ?
(A) Simple, more simple, most simple (B) Rich, more rich, most rich
(C) Little, less, least (D) Expensive, expensiver, expensivest



Choose the correct interrogative sentence :
(A) Had been it raining for long ? (B) What been it had raining for long ?
(C) How had been it raining for long ? (D) Had it been raining for long ?

Choose the correct option to fill the blank in the sentence given below :

52.

53.

54.

5S.

56.

57.

S8.

59.

60.

Admittance to him by the guard.
(A) were refused
(C) are refused

(B) was refused
(D) will be refuse

‘So help me, Heaven !” he cried, ‘I will never steal again.’
Choose the correct indirect speech of the above sentence :
(A) He called upon Heaven that I would never steal again.

(B) He called upon Heaven to witness his resolve never to steal again.

(C) He called upon Heaven to never steal again.
(D) He called upon Heaven to witness his resolve not to never steal again.

Choose the ‘Affricate’ sounds :

(A) [, &
© [fv]

(B) |m,n]
(D) 16,9]

Phonetic symbol / transcription for the word ‘Guttation’ is :

(A) | ga'tof(o)n |
(C) |ga'ttes(o)n |

The fundamental order of listening, speaking, reading and writing should be followed; it is

the general characteristic of :
(A) Principles of selection
(C) Principles of habit formation

(B) | ga'tef(o)n |
(D) | ga'ttors(o)n |

(B) Principles of gradation
(D) Follow the natural way

‘Leading from simple to complex’ is used in the principles of :

(A) Gradation
(C) Controlled vocabulary

(B) Habit formation
(D) Follow the natural way

Which one of these is a principle of ‘Translation cum Grammar’ method ?

(A) To teach English directly.

(B) To establish bond or a link between thought, expression, experience and language.

(C) The unit of teaching is a word not the sentences.
(D) The sentence is the unit of teaching in this method.

Which method is a midway between the two old methods; (Translation cum Grammar

method and the Direct method) ?
(A) Inductive — Deductive method
(C) Dr. Michael West’s new method

Which one of these is related to the ‘Inductive — Deductive method’ of teaching English ?

(A) Itis aslow procedure.

(B) Bilingual method
(D) Audio Lingual method

(B) This method discourages the students to be mentally active.

(C) Priority of reading.

(D) The sentence is the unit of teaching in this method.

Which skill is the basis of good learning of the language ?

(A) Speaking skill
(C) Reinforcement skill

(B) Explaining skill
(D) Listening skill



Qus - 11

W — 1
HEpH,
i 37 gy |i= |
e T TIAT: THIEAT: |
31, wIsY fafer: ‘quies fa’ s gaeamenr sUfd 7
(A) Torverumenss fafer: (B) ww@ret fafer:
(C) ==ty (D) shenhiry fafe:
32, TiRgsh R TUTAT e TR aaq ?
(A) WTEATHHENR (B) S=WTEARRER
(C) IRyHER (D) THETRITe=RR
33. foemulireafe: s sieer e 2
(A)  STEU-YSATRH (B)  TYUT-SIGATRIT
(C) G -Haume=Ig, (D)  STEUT- TN

34. TW-FIAEAY W@ A1 fowrd -

(A) ITehETET (B) TIHHCThY
(C) efmf (D) e,
35.  STHAUTSE T, THIISHT, TEehRIhUE, = HEHIETIhdT Wafd -
(A) UTGAYEAHHH (B) ISR
(C) SRETEUIHH, (D) TafouvsHesEy
36, STThE TIETEY: IUTITEEhIIUL e SR ferfemT Teom gmrerd -
(A) STEiRET (B) UTSITEATISITeAT
(C) woaa&faremT (D) WIEH-T&eh fafermT

37.  HEIT: TR Y T fomed: A Neaeam s, Semde@-oi: , Sgaray e |
(A)  rfrEraudeTT: (B) Trererspudier:
(C) RGBT (D) SATEfFAURITT:



38. HEHAW HE TRAR A forerd -
(A) Tossaad-ufEre (B) giiag-uiEar=
(C) U UNEET (D) YR qiEe

39. FreferRaarny whemg diRasraden e -
(A) STeATeRT qhe (B) gdTg wia
(C) HITehR: (D) TrEruTers e

FYIARGT TR FEAIRIAT: (40-44) TeHT: FHIGAT: —

ATRT: AN TANTIAT: TR Tt Tgron ared seefer: af~r | Tafy fosm=
ATESITd: HEH SYhR: H1d: AT S7fTieh: fasheamm Joe: #ued: | SR fye e |
3¢ TV I AHeErId Saey | fager 9 fagwm=a: uie: ufedss: | vder g 99 TRy adn
TETROT iy |

40. “HHISTd:” 3cI7 o1 fawfad: ? %E%
(A) @t (B)
(C) W (D) =rqeff
41. B 3 99TE: 3T1ET -
(A) fe: (B) T
(C) wgsifa: (D) IFRAvE:

42. “TIG:” 39 h: TIT: ?

(A) ¥ (B)
(©) e (D) od9q
43. ‘I 33 h: AT 7
(A) FurEf: (B) 3mfe |iAr:
(€) T (D) < wfr.

44. “FAE U I9: THAAN” A IR forered ug forerd -
(A) FFTTH (B) "I
(C) wdar (D) ==



45.

46.

47.

48.

49.

50.

51.

52.

sreqferfaa e ufecan fFrafefadr: (45-49) geam: gomem: —

HERIUTTSATTR qUafli HaTe” TS o A JHT ¢ 36 U SE0T 20T, A SATETEeT,
g Ser g fogfer smfa wedl gfifen sova | dareusas gt
TR ~TUTEHR - TOTE T - -<fRron geiet T faed | Jard: Serehred dEng],
I T, AR |

“ITAYA” AT U¢ AR Idid -

(A) ©g (B) <L

(€) e (D) T

AT HATCATET — TETTgg s A -

(A) Tha=TH (B) fega=mm 5
(C) wgIaIH (D) Hda=g EEE
ST gerat e faerd — scfer T forrsrdey s1fe -

(A) o (B) g

(€) foerd (D) T

“QUI{HA” I h: GHIE: ?

(A) % (B) fa:

(C) HHUT: (D) IFEvE:

“HTeIehTATed” 304 Tfufa=de: add -

(A) SIS + T (B) STeIHIA + T

(C) eI + 3Tcd (D) STCIHTAT + 3Tcd

H: B1: A | T foramg eTgersh aiterded -

(A) S8R (B) 3waq

(C) 3T (D) 3TEIA

“06” 3T TEAT T fore@d -

(A) wsafd: (B) SuUTEfd:

(C) uEIH: (D) Ta-afa:

B HTT STOTEITHIET -

(A) <hUS: (B) dreT:
(C) it (D) 7



53.

54.

5S.

S6.

57.

8.

59.

60.

TR ‘T TATgRavHT 6 : forerd -
(A) FINYE (B) INIHYUT
(C) @vHeY (D) FINEY

B TE H T BT 3T A HEhaaTe: 3T —

(A) BE e T Y& | (B) BT: &A1 I I |

(C) STV TEUN 99 YA | (D) B T Y% J&ATd |

eI TATIVT AT~ ST AT HTaaT=d &Y WiosAd — _
(A) FET T T | (B) J&Iq I3: I | E_Ef
(C) J&: T e | (D) JEOT 9 T |

“TF |: 3T o TWhH i~ |7 RIS FeNEd -
(A) ™ 9: I8 9 HEhaA IQqH: | (B) T 9: 318 9 §&had 9¢Y |
(C) ™ ¥: 378 9 §&hd J6Y: | (D) @ 9: 378 9 §&had a5 |

SferenTivr: T Rrferent: el | WaTtgade st gea -
(A) =11Y: T8 farferent: == | (B) : ug frferent: e |
(C) = g farfernt: T | (D) o T frferent: T |

T o Ffaade R i Jsted — SgaH avd
(A) g™ (B) HMH
() Y (D) fererm,

T 93 RShIY hUdT § | 3T TR ShdTIaTG: hivd: -

(A) Toar o3 speafa | (B) T g speafa |
(C) foar g et | (D) fora garref e |

O fael ST WaehRTE Sl : Hafd e SEY WIETEe Ygid ST ?

(A) TR (B) gafgen
(C) de—foamafash (D) Temfasi



PL-2 @1
-
-l

))Jf
el Lt U G e QO U FE U
E Sz S Wz & vy
= L"Mﬁ) b o or
45 (D) £ (C) = (B) 25 (A)

o 3o e ™)
(L B e P lsidivs” w
S ATsld L Az (D) L& Dy (O

b SR U S I LA L ey
Yk (D) Uklhs (© okl (B) Uk (A)

U Z—T(K(f/v/fa g’wyzgcaﬂ’l’d/& = T35
HHe tu D) L © LLik ® LLisr @A)

S Snf YL Lot i S U7
w K G S B) e Bhe ChimesLEUAE (A)
FWowr D) w68l 22 Ui ()

?‘LWMU}(C_—/V"L%;/“JEW’
e Wi LLe 26 (B w5 by UL Ut (A)
EW osr (D) WA= e ks (C)

€ vt U o 3ty 2 0 e U S

Jr (D) =7 (©) % (B) TN
?‘au;}:,}}fﬁu,{cu:d)'gjﬂ

LI (D) A (© A ®) o (A)

31

32

33

34

35

36

37

38



PL-2 22) C

U EEE, 39
A (B) EF‘E_' L we (A

Sl §F T D) i€ hb e ©

Zen L340 eV sy e JF UGS e
S e § 8 TP F L e o Ut e £ udd S e T
Wil oo fo o ez K ero S Qe S = Jug i Z et 27w
GT Ll Uy &u g Usdly B b UE U Us iz dé?L L1852 =3 u’l}g;ﬁ-ﬂgc
2 e/ S P gt G JUl it G oty = Fr L Lt Ui
ST G Unbdendle 2§ G n LUt cib i Fomwd £
G T S a2 T 1 e U §25E G 6187 il L Qb L 158 L

te i d Sy U 40
NS s¥© (6 (®) L@

e dedb e ddasey
S (D) () ~ ®) Jk ()

VLU a2
i o > (© S ®) S

<ol Ue"E 43
& o) diz (© $nF ®) Sere” (A)

ERPVITY SN (VY
~» (D) L (© =l (B) U (A)



PL-2 (23)

C

a2 L (496 45) ey X E Sy UUEI S e

L B s 1916 #1647 -7 Jc,fjt/ﬂy-w-@

Lz s Sl sl Ll brodty § ol _Foslds € e (E 62 $FHT U it 1

UG dan§ef L (2 L F Fn & Qun SF U
MYP RSN AT d//@gmﬁ’é s lud e Z S S

‘et Fe TS A S S e G e b S %
S ) 1 (© SS ® S @
e AL U de kb e E S S A

$e= 2 (B) STIV TN

H e o ) e S (©
‘L/}.K‘U}b”l:’ﬁ

¥# (D) by (C) tt (B) b (A)

< sl Ko

S Uk zuer (D) rts (©) et ® (A
?uf?u@gw’v' Juqﬂl{’-wﬁ!_ﬁl

Ay (D) S (© G (B) S (A)

?UZZ-/ZL(Z@Q,;JAL‘_/&,;](Z
Lz&b (D) 4;}_‘7(}61 ©) 4’—563' (B) <« 7 (A)

et LTt

L n3f ikt UL S (A
KPS EUEE S B)

PR ARSIV

ety D)

45

46

47

48

49

S0

S1



PL-2

& 3¢ (D) &z g

©)

@L@#&u&@@fé@ﬂ@(otyuuﬁuﬁﬁ
L_o ® Ll @

e VP LU L0 UGl Sed 51 8

JoS O &

=1 (D) SA

E L D Ao

et (D) Gl b
) A
tsouss (D) tng:c‘

Ly & Ll by u’”‘/({

O PR YA

byt s &WH‘

S

©

©

©)

©

©)

©)

(B)
(D)

(B)
(D)

K ®) Jo @A)

fe AU
S B) cef (A

idlf?gjﬂw(f:ﬁ .

G sk 87 Bk o
e o Je S5 AU A
&L ® I F (M)

?Lac,ﬁ‘&;ru:&u’!“_cag/lgd}/’!gﬂd”

Fer B) e @A)

ug:écf’gl?.cac‘l}/}l&;%'/u(ﬂﬁﬁ)

S ® SN

Ut Ly Sl
(s ks (B) b 0P (A)

gL ‘i—j;«ﬂ/?cf%{:b’”
e FIMLn (A
n;(l(/?’;tgnuuﬁ (®)

OO

7%‘# Je Slosl L ({’)vg
% J" K361 (A)

e o€ 5 2 ()

=]

W

4

i

5

S7

S8

59

.60



31.

32.

33.

34.

35.

36.

37.

38.

39.

wue - 11

HMET -1
fash
30

Hﬁ?gﬂ%%|
HIGHTYT SO S J&d HaE 315 -
(A) Teft i shaop (B) TH H ATell HHATSY
(C) Torarg foray (D) 11 S T S G T 5]
31T 3Tt uTerRl wifsferaa anf IRy @ ugrsur S R a8 -
(A) EsIsT § Trey] (B) W uTey
(©) dmar ey (D) B TS e
FHEUN FHTSV e AR © L W@ G — et
(A) IRE S ST S (B) SRR S &efiar i
(C) IRl (D) IR Sf dremmes S
HIE © TG0 Wi WIg BTl St 101 oA18 el 3118
(A) gATEY S S (B) e B
(C) =g SfewrsT (D) forarg TeTey
o | faafa arf @i s s s ges SR 31g -
(A) T FIRER 3R (B) T ACEE 3R
(C) IRH EH 9eET 318 (D) INHE g HE
TATER g1 S I=N0T, Fec WeR U 3fireafad @ Ao org fafer stomeer -
(A) =T S fafe (B) faRga fafa
(C) & gadA-JamE (D) i ygdTd
IR, TG TGS, awTera i1 7T, Tergeme STft e —
(A) BEBW G G- CLIECEIEEN
(©) Teu gy (D) afgar < e,
feafigrr garreft o= & geret gifd -
(A) Tk s (B) T sraaiy
(C) fak FHIwmT 5 (D) T 3Taeie T FEGE S
s 9% et ot forg o, 371 & afdan & -
(A) st T S (B) sgfeamsn

(C) I8 =g 7 feamr it (D) @eg Aot HErgf @ gt s S



40.

41.

42.

43.

44.

Bfe 2Rt uet et gararfs s s fet - (garet 40 @i 44) |

e TR = 3R 4“3 THd AR, S e R, W T I0EES @ |7 diedt a3
f&eftat & TgmRl 3TMR T “ITURREIST YT X, TU HI TN X 17 T I 3712 31 @ S g9
T3 W1 TTg L, T &H St HASH A | Teohe H1fied @ Gufiast S I SArehrerenoft off q “Sreht
GfEsht aerar i feed el U 4feS wesh 1fimn &g 7 e, dfsl wad 4@ vl 17 e
FehH S AAID! 3R, el =rek =ull g, waen fosht gams ot ¢ afefy oo 7 fofee @ goms
forent oft v ¥ gfter @i ey fofers @ @ | 9fE 9 S avger @ <o 93 € g g9 € fesa
T g |1 3T qorE ot feRl € S gtel g9 @ =0 ol IR qard an @Rl I S|are | g
fehe HETIRY WA 3118 T “Sil HIVE Gieid g¢ 9i@Tad ot U g8 §a okl L U J81E3T g¢ s
L TR H 3 SN AT G3rasi ° wifast | fafere wifiat @t gfears: @ g3 ®1 3= 77 =, 91
@ fou @i =<1 9] | 381 s Gel U $aH 3 form # 9y 31 | wenisfy farn gfver oww 9@y
U IST A 7T o |

Hfo 2Rt <t Rl 3R -

(A) T (B) fearg (©) fiea (D) e

STY A S HHT TR - E5E
(A) Tt ®) R © = o) Fe B
fsed =1 g o1 -

(A) Farg (B) H@rmEd (C) ¥ (D) =Sl
“JTUTERENST ThI T, T 1 TG R |” 3R -

(A) Ffefrar (B)  UEWhI (C) == (D) TSI

uTor @ o @i =gt aggfa o ?

(A) T am (B) T@Hdam (C) B3IW (D) T=Eaam

i glentl ueht feret garert w11 Steme g2t (garmer 45 @ 49) —

T S AT 3R ATg U el St WA 377 §R, = S R AW = S 5 AT HedT |
B3T el iR S | Hooh T 31T, TR E hin o St Uies-ufes ferad S 3TR | 381 T
hefl § &3 SifE T Sefe T I gaet IATH @ Serfdiesr § aedidl w4, A&y @ ey
St gfe T S SR s SUITE | §3 A § g3 el fo fouty et e awa 5 s
afeEr e € feafy qwfy fa et wen wra =i § | et wemsf fa g e S g
fa o =1 3 9% Fori ©1 9 dfe SHM # 30 el 51 2@ 1 gt Rt & € Hiek o A e
B | W Gl U JIH W GEr) weg fieft T 39 St Ay wher w1 frendt 19 g ot fien §
TSR 38131 et @ femermn, dgfe €131 el Sarferad gig a9 ot | $® 99 @ 9 I
el T 70 &9 F 30 oft 31r ¥ o o 5 f gig ot ey R s A w d fo g
ST ST hicrs forvd —foenera U mehst gers o afef | Shiat fasehr 3t € w1 T <1 aeait
fere ufdsn srfema Sfet et 312 a1 Feta S Getar S 3o el AR T st wgE U o
afgst 3 T Sifvara ufésh foraofier aeict Iw el 3T afediet TE T FeThR Ja A1 Tash!
ufestt gt St gigi siegft & semf, se St o= T W S wwaret @ ufgsfs sut s
oTETE hel AT |




45.

46.

47.

48.

49.

50.

S1.

52.

53.

AR gfept St 3aTg AT -

(A) Efd e (B) T e
(C) T el (D) i et
ST’ A% St T 3778 -
(A) G (B) widl
(C) T (D) T
IMEE U or@eh dfgs 14 ferariiar aeiet 991 Shal 3T |
(A) SfwETd — 307 (B) 3HT —Sifsrema
(C) e —3am (D) feHmE — 3T
IEEEN T TR e ufgen srfeame sfet e 31 |
(A) I (B) A
(C) T (D) 3TeheH E"'ﬂ_
Tl e S e I R - -
(A) =HEl (B) 3T ai
(C) H=mEw (D) T
ST St 99 @7 e TS 3718 -
(A) Jfee (B) I
(©) =9 (D) TR
wra S Gl faftegfy S fmfor ettt a7 o 1R -
(A) (B) ®UEt
(C) 3t (D) AT
il 971 91 e e —
L gy () JHEd
2. urE () @
3. yf@mr (i) wifgg
4. 2@ (iv) favarg
(A) 1Gi) 23G) 33  4(@v)
(B) 1(i) 2Gi) 3@G)  4(v)
(C) 1Gi) 2dGi) 3Gv)  4d3)
(D) 1Gv) 2@) 3@ 4 i)
ST AT i e 3TE -
(A) U@ g fom | (B) Hfesht U13 TR FHOT o] |

(C) eefiat hfret e | (D) 730 o |



54.

5S.

56.

57.

S8.

59.

60.

“affa U T v |1 g feeedt gHer 9y |7

Syfret 7 o mife T gt S aws St 1|

(A) 2T 2 gt (B) 2T 1 gt
(C) 1 gotoRt 2 Hifa (D) 2 gsteRt 1 Bt
ek St Forert 31mR -

A () B) O

© 6 D) 7"

g fres g =i 1 Tereh St AT 31T —

(A) |Y ITCHT-IT g (B) &Y feeh Sifesr 331

(C) |Y GUTE T ITHT- 3T 3 (D) =Y et | 37T - 31T 53]
‘31 Ffirar Se 937 A9 3gel —

(A) JIUIERIA (B) 39AH )
(OO
(C) 3= (D) 3 ]
g firg Mer et firemn —
1. =e (i)  Fgar
2. =g (i) g
3. med (i) wEsR
4. A iv) fo=i

(A) 1Gi) 23G)  33Gv)  4(@)
B) 1(Gi) 2(@v) 3(i) 4(@)

(C) 1@Gv) 2(3i) 33 43

D) 1(G) 2G) 3(@v) 4 (i)

(i) TET IR hell @I |

(i) e 37g @ |

(A) (i) 37eg WS (ii) 37eg Ifeg

(B) (i) 3Tg 5113 (ii) 3765 53

(C) (i) 3¥eg d1feg (i) 37eg =feg

(D) (i) 3¥eg Tfeg (ii) 3Teg T3

“TTHY 3 AT ®YRY @ Sieh bR o §eITT AT |7 T8 =T 37T -
(A) HHAT JHE T& (B) Y. Hiawm agadt
(C) I 3Asgel U (D) F. U



31.

32.

33.

34.

35.

36.

37.

38.

39.

eS| |

FE— |
et
fernd3 e I8 30 yHs I3 |
H'J YHS IS HIIT IS |
IHT € ATI3d 359 § Hige »3 fAftadt S B we madt S ses o E3H ans J
(A) HEEAHS (B) g5 HS
(C) fousdns (D) T HIE
I YIS &9 99 T 89796 319 996 &t fefomea W33 J _
(A) »HEd (B) A Ejﬁ'@
(C) Us-yAsd (D) IHS HIHST [=IE

M@ﬁ%wws%w&aﬁ%ﬁww TIHS, »HETd nfa ot

(A) BUHUZE (B) =% g S ugret
(C) wen <t ugret (D) HESuFTEr

et & daft urs-yA3a T viegat T I

(A) Wag (B) fas=

(C) WU=s3IYITHS (D) et

I fenraas <t fiftmr Al Ag 3 €3n fedft I :

(A) Ty 3 niy = fedt (B) wmaH& 3 faas fedt
(C) as= 3 394 =% fedft (D) T3ws feudt

Wmmﬂgfﬁuww@%mﬁ@mfmmﬁﬁwwwaﬁ&ﬂ
3=, Al 391, Yfeat, A9 fe9795 © »ieaH, Iad 3 ford a8 3 AHTd niggse yfeadt
T wiae qger I 17 — fog 385 fan feees @ T

(A) TS5 (B) Iw

(C) Tetenes (D) Fosa

Hoigs 979 faadt uaa as3 T ¢

(A) HBIEHsHEER I T | (B) WoasfeaAUG T |

(C) woae B femaTJ | (D) HBES ZIASTITTT |

&<, MBI, Y3, HIE-HISMT 3 YAs Hea3 80 o Yiftmm 2 fag3 »iar a8 Hefuz 96
(A) »JdgEy (B) dafesrus

(C) w3y (D) FFt Uy

fer-ang, WaET HUE 3 HiHT € w9 3 yHaT § fols 2gar ' 2fsn a7 AaeT J
(A) 3(f3s) (B) 4(99)
(C) 5 () (D) 6 (&)



(40-45) J& feu U3 Uz A A ® d99 40 45 I T €39 e

wia €t dnes Wi v Snzret & a9 we It aot I | wpdst vrafeasT U9 ot feg it
YS™ °g g I J | feg wigre HEST me™ w3 9939 T wie 99 99 5 | et aras T fa wim J9-
I8 & qHTet 378 I & aHTE § 39+l et At I | AT S8 U fomam i g7eaT &7 Hasy
fEqT 36" 93d ferg famr J | Quag S gear dg s 4 G aret J |

40.

41.

42.

43.

44.

45.

Uq feg nrfenr GRS E HeE J ¢
(A) o
(C) wharast

WMI3I ZIT I SfenTHaIC J
(A) g
(C) wWs

‘TE® T feddt HEe T :
(A) |
(C) JIH

(B) feorft
(D) Ut

=1§10m

(B) ddH
(D) B9

(B) I«
(D) <ae

B T e 23 3 IH I96 978 Bel 29I Ta  JHag J ¢

(A) frasdt
(C) HIUIH

“QUa3’ HET TT AHS9ES HET J ¢
(A) ey
(C€) STz

fUgsggaaafenrmae J:
(A) frI3
© JHTET

(B) fagdt
(D) fora™

(B) fA=3
(D) fHage

(B) fag3
(D) fags

(46-49) & 0 U3 UG I AT S 99 46 T49 3T 37 o8
SHS 3T II&T HEHT faadt I | for 1393 © 303 Hdy & mmuS-nmmy § It 29ar w13 iehf &9
2fem T | feg B AZ-U3 3 § 9 Ja1-3¢ I T I T | THT-Ji9T, G9r-diet, mpfig-ardte »rfy

et fedut de et JT g ygfe3 92 75 |



46.

47.

48.

49.

50.

51.

52.

53.

54.

‘SHS HIE T nidg &1 3
(A) THH (B) www
(C) =H (D) IS

‘JO HIT T HIT T ;
(A) Wgesht (B) w39

(©) =T=e (D) 3I<

‘BT 7Y 27 ferzdft g J

(A) T (B) wet
€ 3 (D) I
‘FHS T ATST H&HT fe393 T I’ T Tr I8 mUme 99 ¢
(A) Sfyas (B) g3I®
(C) ZTSHEIS (D) fHAIZI TS

IR Us e d= o’ myre T A wigE J
(A) Heudt Uz aas R8I |
(B) H=3 st Uz a9 83 & |
(C) WesHFmuzz s aga s T T |
(D) ¥yt 7 Uz3S a9 S A T |

a2 feg® Aeg I3 :
(A) w0 (B) g,
(C) o, D) fe, &

‘g fae G o= T Aft nige & T

(A) WETFET (B) WfIa9 Ia&
(C) TR dfawm g (D) daHse
Jrret f39 uheTg foniast St fasft 9 :

(A) 5 B) 2

<€ 4 (D) 3

ngfed fentags fTg 8em § A Ufg s fzTa=r T |
(A) wWIE-TIH (B) &=-TdH

(C) wJg-=dw (D) Gu==

Eg
e



5S.

56.

57.

58.

59.

60.

s 6T, e 3 guHTT |

3T 3fem €33 yu HaT |
Sudas H3T faas s< <t BEa9s 75 ¢
g . OEAD
(A) fE3 (B) <IT C1 53
(C) T (D) &3
Jeg AT HEE IR J
(A) ¢ (B) o
(C) wge (D) S et &t

S wdag feg fagg I AHS Jor J ¢
(A) nifsagat

(B) 93w

(C) Surw, BuHs, T9d HEE M3 g I
(D) SuHw w3 GuHs feg nigesT

ST s [ ufge w3 g fema der J ¢
(A) 12+14°3 (B) 14+16°3
(C) 13+14°3 (D) 13+11°3

“Zdt &1, 3T UFTET 3BT 7 widheT fag = |
JTI3 T g O A% & S i famer 17

Suda3 A3 far I H Begas I :
(A) »<g3TH (B) W33IH
(C) fonraaan (D) dg3w

IHT i fide yfefon f3de I niar s -
(A) fforms, fefenrast, g (B) nfformy=, fefonadt, va
(C) Hy-nifyd, HY, fefanradt (D) s, H3-fuzT, Tns



31.

32.

33.

34.

35.

36.

37.

[w11fm]

v —1I
CINT |
deyRldl

AL HSHL SE 30 WAL 6.

€38 WAL oy elLoL AL s [ovuld €.

Al2lArHi2ll 53 ERA-BUA AULAA E 9
(A) WAL (B) (e
(C©) Rl (D) &el Gl$

HUGEUMIAL WA YRAS, ollel AaltL 54 € ¢
(A) Ay (B) ML 2A(Gelsa
() el (D) RogdUd

AL 5L [R1es 32w e ¢
(A)  URL A A1 Rl d (B) YR sl SR d
(C) Wdayoldd (D) [aenalld cllaadl ay ds 24 d

A2l 2 [ARMRA S 9

A) ¢ B) ()

© 6 D) )
([RlaterHl Heais Al 21l AlRAL sl el

(A)  Ruasl siigrod well s s.

(B)  [(AzneilAl [Alcx 2d @oilszel 530 ws 6.

(C)  ACAURISH — UlsdsHAL YRR 241 [AR] A1 6.
(D) GuRlsd otul

(R1ats [QenellRAlA sl UsRAL WAL Yeal-, 2Lnd v ¢

(A) 28501 UIMs U3l (B)  22yel usll
(C) ARl uRIdAL Ul (D) <disRulAL e[PA gl wR1ddl UL

Heuls 59 Sl S ¢
(A)  oles-<l (B) [ats 55l
(C) &q5sl (D) s aels 55l



38, AlalAHizll 53 s el ues A2l ¢

(A) auel (B) s
(©) 2ot (D) <A

39.  ofdR A5 HIg [QUSKL 53 6. AL AL ACASR © ¢ ——
(A)  GuHL s (B) 348 vesR Eﬁ?
(C)  GBcledl asiR (D)  Adrad AESR

AR AL BUUAL AR UH 5HIS 40 2L 4141 B &vil

SR Al HIR Rigidl s HRQL AMellAL S Al AL Il ALY+ 22690, AUl 24 AL
&RHL dellarAl otull [FRuHl HOL AL AL 8 8. 2L 2 Ml 2 s€l USALS AL 9L HIREl
)l =ULAML ¢ dl E35 HIRRI SR A R USIR 2. 24 elsl 21 st Bl el
or)cl-tHl B0l E1SL WAL IRIEL £ D dRS Rl EIReAAL IR 3R 6.

40.  GURLsct dLBURUAL AR MER il oLl (L] HOL UL R8E 42l 7

(A)  Re9dl (B) cucRl
(C) el (D) alld

41. iUl [QRIH] 2108 oveudl.
(A) st (B) s
(C) el (D) =il

A= 2 5(dlrl AR U 5HIS 42 2l 440 BR el :
&R
200l (B (IR
2 e
5 glssls dllsd,
AL 91yl 2Aloy- vl
MRl ALY ] oYLl
£ 652 Alsell i 52 :
R 220l 4l 5512 Wul-l
42, HOwHE S el WR WSl avdl 521 21 AR

(A) slazdlusu (B)  sla vz
(©)  sla Il wivliAl 55512 A4 (D) s[d2A [ARId 2@l



43.

44.

45.

46.

47.

48.

49.

50.

S1.

S52.

Sl s[AAL el $3LRL AL HALE ¢

A)  sla-l ssiral B) sla-l Adslled

(C)  slaAlL s 2acud (D) sl Rual

Yufl” QogAdl LRl 2046 sl

(A) vl (B) M-

(C) >d (D) &a-d

‘e’ UAAL 210€

(A) (B) wkd Eﬁg
Gofa

(©) Mlla (D) ylvd

‘el A sl dteus €L . [l 2oL

(A) dLLLARs (B) AvAAUS

(C) RMLRS (D) AR

AorRUcl GUMIHL dAAAL B2 EL USR € ¢

(A) s (B) ol

(C) =l (D) AR

‘o 4 o AU A QI CPHIREL $UL BEAE

A) [Rrrel (B) &lsll

(©) el (D) <Rl

“§ ULs Rl AL SUL LA ¢

(A)  elldwasin (B) ™SI

(C) ®dsla (D) A Hdslol

‘AL YRS AR Al SALUSRAE 9

(A) GgauR as (B) U A

(C) [aur s (D) sl as

Qotd dell 2R Al LRI s 58 & ¢

(A) A izl gl Wit (B) L &Sl 95

(C) WLadlzat (D)  HR d-l dedR

“ERL B ELSL A Bl 3[@UALAL 242 oLl

(A) R WRIL (s ovd (B) vllell HAIRY 53l

(C) Mg (D) &3l &dl



53.

54.

5S.

56.

57.

S8.

59.

60.

Uscl, Usd 5 2R0{-51RA| vell 4 CUMIRAML W H HOL oS, 2l dall 2eEl sl A
LALLM A 8 ¢

(A)  dcAH UCEL (B) dg&d o6l

(C) e 2U0El (D) uRULdl 204l

AR 5L 200€ 24299 LR GldR] 2uddl Al ¢
(A) =ad (B) W
(C) Hier (D) dorR

AP gl ceiBisdLssS © ¢

(A) i ugl Rlateil Waiis dotssii Guabll 8. %%%
(B) i ugld Gaseu-L [QeuelAl Wiz cleisdl 8.

(C) 2t ugld Rats Uiz urn 8.

(D) A ugld 28l dHoy RN 8.

s(adL 2l suu e 9
A) ¢l (B) sl
(C) vl (D) sl-il

AUl 53 2191 wal BauREL 2L Al ?
(A) ARl (B) 553l
(©) L (D) s&ld

Al2lArHi2ll 53 245 el 2oL A2l ¢
(A) xalAdst (B) 2ACERSIN
(C) wosld (D)  HdRRIA

Ws UM 55015 54 8 ¢
(A) USR (B) L& [Rael
(C) et [Ruewt (D) ularedlszuel

UL R 53 Blare olnsA Alell Hed Lluiad MR ¢
(A) Havl (B) A
(C) awvid (D) su-



61.

62.

63.

64.

65.

66.

67.

68.

€us - 111

T — 11
f=d
36 @Ug H et 30 T 2 |
aft wed e 2 |
TTher fehettfeeh fepaeh farsa & 7
(A) 9T (B) A gLl
(C) wfEA (D) UTh B
3= Ufieh TR W HiRges v fvet <6t weer fafer o1 g e g -
(A) ¥e3H ud fdyH (B) T3t FrTyOT
(C) AR JezH (D) HEHYfaqEs SFTTER
e § i w1 fr e & HeR T A & ?
(A) BRI (B) & |
(C) Torelt oft STPR & | (D) H&H HTHR |
ST JEqehIeT H J&ieh B @I1ET -
(A) < TSHBI (B) wrtafcres
(C) A AT (D) 37 94l YR
frefafad 9 @ gva Tem o1 ST ISR R
(A) st (B) Tum foraams
(©) e (D) e
iges s f3reror <6t yeaer fafern o ootw = fafyr 7t et 8 2
(A) WYY (B) drdieATa
(C) Al (D) e freor
U3 v fahtd id &g Frefafad ot e 2
(A) STt G | (B) Tt AIfged e |
(C) doiE WK | (D) Tt fthed <3 |
frefafiga 3 @ w3 91— i feRimar T 2
(A) TavasrEr (B) T

(C) 3THMhIhd (D) SRS

[=]§1[m]

LD



69.

70.

T T TSH o STIHT WTNT § “HeaTeh” i T8 3719 2 -
(A) Bl % =agR | frerera gy for T ftadHi & fow & Toor sl wehs T |
(B) oo |ruferd &9 § e wifafre ug 2 |
(C) Toreh grr 3reueh wa feremefi &1 3199 @& 9T T |
(D) epeft =g = sk =1 goar Ffoera & |

ATcehTfoTeh e, ferameff <t stfermm Tmer qen HfeTs o gt 1 & e 2 -
(A) SUERICH f3reqor (B) TrgmTeHss farequr
(C)  Toramerh STgae™ (D) 3rgert fareor

=1

FrfarRaa e o 3MER W I HEAT 71 ¥ 80 9 o I T :

“fpT fewTet™ o1 a1 sheT & T | g 3TN 3T T -HEIGHY 3T TR QI bl gl SSTati &
AT 53T fedTer™ “qee 1 ATUCUE” shel ST f ot o1 8 7 hifoierd 4 UHT & a1 o1 | 5eh %
TIG-CX H FE I @A gL T WALl g &, A 30 Tranferes’ spgen sed & | Rranferes 1 @ a1
3 7 “Trerfers” =1 R & Srerspe 1 fren fewmn a1 T & 2 v @ W & R | Gurees a1
AT h! HIGHSTRI 1ol SRl a1 8 ol a1 | T3 sht @fears et € sa-it g, e 3R Hhar
B Tehdl B | Y, STAHAG] T I T8 8 BTG G 7, Ak 319 1 37 a1 GU-GL qoh (e &l
Gt AN | g St 1 s A el b i st e £ af e 24 A 1 s

THTIE HETed o 3TcToh It o freret fewdt o1 wfafafere =g firfe-spaer s @ grft 17

71.

72.

73.

74.

‘Shied’ Tee H {Gifehd SIS T o YN W ¥ & -

(X) 0y (B) wgrHmo
(C) 3TeY (D) gui
AT’ &G 1 dCHE ®Y & -

(A) wfea (B) @

(C) e (D) T

SfeT-sT 3 51 97 & -

(A) STTA-SSR (B) hUEI-HAA
(C) = —vETg (D) 35— %4
fr=faftad see 5o’ oo & ) IR B

(A) @i, 3 (B) franferes, difds

(C) U=, WERA (D) R, sienfirh)



75. Pt # & e e # fifid TwE 2

(A) &7 (B) @
(C) @ (D) &
76. Tfafgad @ frawsed matig ¢
(A) TcTrept (B) &
(C) H3W (D) waref
77.  Traferfea e ug aogey e 6 IR | %%%
(A) SR (B) fedrera '
(C) wHEreE (D) L
78. Sisgehiy 3E <hi 5y ¥ Fmferfiad vreg o srafeem &
(A) IR, 3R, HifeteH | (B) TIoid, HTYEUE, U< |
(C) HUTGHe, gEt, TAhal | (D) Tify, fafafere, #er |
79. SR H WA TZ IR -
(A) et (B) whferersht
(C) @t (D) 3T
80. Ul gHEAR U |” 3T T H YK L@iohd I & -
(A) T W (B) 3o
(C) e (D) wEIH™

Frferfaa T o 3TUR W I3 T 81 T 85 Ik o ST IS

SR gH eI, T 96 doerd 5,

o TEiven @ie o ofe 9 2 1|

Te AT, shehl—shIT Sield e,

Hifehel FoATd-goTaTd L arl 2 ||

i T i IAR 6L T A |

Shotehet! AT ordT 4 R A 2 1)

HeH g ] ! STeTeh 99 dTfg,

TTAfE STTTTerd TerTe =il ¢ ||

81. UK HISHII bl UgehL 3TIeh T H ferR Scd=1 gIaT § -
(A) TW Hicd & Tl JICAT <hY WTaT |
(B) ST Hi=ed o Wfel S hl WraHT |
(C) T = wfer g wremT |
(D) e 3 SIfl 9 T 9T |



82.

83.

84.

8s.

86.

87.

88.

89.

90.

frfaRaa ufea o 31Ty STerR 1 J=m R 2
(A) gRfFEnaR@sHwie |l (B) Uad AT, hehl — HR TS <@’ |
(C) Tafg STmad TeATs Tehii ¢ | (D) STk ok gF d 93 SheddE 97 |

frfarRaa ufed o ved v o= | a1 31faeh T W 38 %l Had @ -
“ZR g YoM, Tt e doord =7

(A) =fd (B) W

(©) T (D) TUIEgG

ShoTehett ATTehT, a1 9 RRE ¢ || E El
T@ferd TTegi § T STABR B -

(A) TP IABR (B) SYHT 3TTHR
(C) FH JehR (D) TeI¥ FSHT

S % SIET S T TiE ferms a1 & -

(A) T AT W (B) el o W

(C) haet Mt W (D) Shelel Tl T
T S TR T |” TR T 61 SfY  Sere § -

(A) GTYRT 91 (B) €I A

(C) foor (D) &% we firsy =
“2Tg ST GETeR T L B -

(A) U BT | (B) 9 IdT T |
(C) Tereamq T B | (D) Tomame S |
TEEY | T I et fqu |° 39 Ire T {@ifohd 31eg H heh T & —
(A) GEY HTH (B) H FRF

(C) HHIqH B (D)  3TTereRTul HRH
T I TSEATH HETal o1 Fet 319 & -

(A) YH~EMT | (B) WA |

(C) ot STET | (D) gTa ST |
Fr=taRea o @ s @1 a1 Gfqarees Sty %1 3erwr e 2
(A) ferd aga - werar 2 | (B) 31 A wler @ |

(C) W w1 A forenmera & ura fra 2 (D) 39 Tt v & urft sferss g T 2 |



61.

62.

63.

64.

65.

66.

67.

68.

69.

SECTION - 111
LANGUAGE - 11
ENGLISH

There are 30 questions in all in this Section.
All questions are compulsory.

‘Expression should be impressive’ is an imperative of

(A) Accuracy and correctness (B) Naturalness

(C) Measurement (D) Evaluation

‘Freedom on part of the speaker is essential” ......... is a rationale of

(A) Direct method (B) Structural approach

(C) Communicative approach (D) Substitution approach
is an advantage of communicative approach.

(A) Listening (B) Speech ability

(C) Writing (D) Reading habits

Language has

(A) script (B) gesture

(C) feeling (D) sound

If a Bengali family lives in Delhi, the children in the family will learn
from environment.

(A) Bengali, English (B) Bengali, Hindi

(C) Hindi, English (D) Hindi, Sanskrit

Evaluation is done on two basics

(A) cumulative (B) terminal

(C) sessional (D) formative and summative

The comprehensive evaluation involves

(A) assessment of answer books.

(B) performance in co-curricular activities.

(C) assessment of health habits, work habits, cleanliness and co-operation.

(D) All of the above

‘Class magazines’ is an example of

(A) assignment (B) project work

(C) writing test (D) speech test

One of the objectives of the remedial work is to

(A) highlight weak students.

(B) identify the cases who are lack in studies.

(C) spot the weak and punish them.

(D)

make the weak students aware of their backwardness.

in family and
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Remedial teacher should keep a liasoning with the parents to

(A) ensure the weakness of their child.

(B) help in identifying the cause behind child’s lagging.

(C) work in same environment.

(D) rebuke the students. EiE
B

(Prose passage Q. Nos. 71-75)

Almost the whole village stopped to watch the big boat being built at sometime or the other.
No one owned such a large boat or even worked on one. Perhaps they were jealous and that
was why no one had a good word for it. They did not want to believe, it would do well at
sea. But, they, in a way, were proud too. Building a big boat like this in their village was an

achievement.

Do you like to eat a pizza ? Do you prefer a hamburger ? The two questions can be combined

using

(A) and (B) or

(C) but (D) that

I am sure. It is true. The two sentences can be combined using
(A) so (B) than

(C) but (D) that

Many a man done this.

(A) is (B) has

(C) was (D) were

Gold and silver precious metals.

(A) is (B) has

(C) have (D) are

e no one had a word for it’ ......... The underlined word in the line from the passage
stands for

(A) the boat (B) the people

(C) sea (D) achievement

(Poem Passage Q. Nos. 76-80)

‘Weavers weaving at break of day,

Why do you weave a garment so gay ?

Blue as the wings of a halcyon wild,

We weave the robes of a new-born child.’

‘Blue as the wings of a halcyon wild.” The figure of speech used in the extract is
(A) alliteration (B) simile

(C) metaphor (D) assonance

The rhyme scheme in the stanza is
(A) aabb (B) bbaa
(C) abab (D) abba



78.

79.

80.

81.

82.

83.

84.

8s.

86.

87.

88.

89.

90.

The plot of a story may be

(A) comic (B)
(C) satiric (D)
Dravid was the wall of our cricket team.

(A) Simile (B)
(C) Personification (D)

tragic

all -
Metaphor

Rhyme

Inanimate objects and abstract notions are spoken of as having life and intelligence in

(A) metaphor
(C) personification

(B)
(D)

simile
plot

You be ashamed of yourself having made such a comment.
(A) may (B) should

(C) can (D) could

He chased the thief as far as he .

(A) may (B) should

(C) can (D) could

The car seemed to have

(A) Dbeat the bush (B) tried to pin

(C) vanished into thin air (D) boarded the wrong train
‘Drama’ originated in

(A) Greece (B) Rome

(C) Ttaly (D) England

An ‘octave’ is a stanza with lines.

(A) 6 (B) 14

© 12 (D) 8

The twenty-six letters of alphabet have sound symbols.
(A) 20 (B) 24

(C) 44 (D) 45

The phonetic symbol of the underlined letter in the word ‘thin’ is
A) 0o B) o

<© 3 D) ds

The phonetic transcription of ‘lung’ is

(A) /lag/ (B) /long/

(C) /long/ (D) /lexm/

The word having the sound of ‘ed’ is

(A) pear (B) hire

(C) moor (D) roar

‘h’isa sound.

(A) voiceless (B) voiced

(C) palatal (D) wvelar
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(B) el [QlatsHi auBLd- [Astir st g ov3=l .
(C)  cundl [RiatsHi HeAlldsiiA sti o3l 42l

(D) cunRies [FRiucE] Sl 215 8.



68.  HIQAGCIMIAL WIEA YRS GUEL AztBLL oreLLdl.

(i) Heyw (i) ol 2 Hgul
(i) (AR (iv) el

(A) (i) (B) (i) 2 (ii)

(C)  (iii) @ (iv) (D) (iv)

69. [(2ats 2adls g1 [Aeuell Heuis 56 uglaell sKles & ¢

A) [Rlate (B) Aslewre
(C)  &HHIMES (D) GuRlsd oiell

-~

70. AR A AsRUAL LUAL
(A) UKL AL SRl (B)  CHHL U520 ARl UHRA.
(C) AR ARG 6l 5, (D) 2isloua Yg el WA 8.

A2 AN IBULUAL AR WA WAL TT &L 73AL oyl AL :

DL 58] A 53l A s Blslcd G{lBHA o A dl WL AR Hidl d=TE 200 dull
wodld éld. e ellsudl 2s, oAl Feyedy, ellsid ogd 2 ellsid) drdsiid 21
{fort [l HI2 $HAU 2AEIUIRL =34 otAl Y] 6. Al 24 ARS[AAL AARRAG ¥l HePYRMAL Hicll
AR[E AL IUA ALOAA 51,

~

71, gasicd el MLl d=[E 201 51 ALRA 51 ¢
(A)  uHAIA (B) bud
() tls (D) URRAlA

72. 28, [ARYsdl, GAEIRRL A drrdlsiid el SiAL B Riovd HIZ SHRLL RAEIUIRL =8, ot Yol

-~

1304
(A)  Mae elv (B) LA ML
(C) 19y (D) gilu-

73, HEMIW ACEHL SALAHRU S ¢
(A)  s7% UHRA (B) dleud
(C) dcyz™ (D) ¥R



AR YA YILLLAL AR WAL 74 2 751 oyellod AL

74.

75.

76.

77.

78.

79.

80.

81.

2l 355 Bl BasHl gls
£ YuLs-AUe A gHgH-L [dasHl elszL.
Relerd R 52 B o UL URGUM B,

-~

SlAR € sl a7l MssHL el

El5%] R $UL AZLEHU S ¢

(A) &di-l BasHl (B) 2l Besul
(C) &dlAiHl BasHl (D) 2RIl BEsHL
YROUH 0e, [Eat avoudl. .
. X E5E
(A) yfecdl (B) llet aﬁﬁ
(©)  yuslca (D) si¢ (et el
SLESQL U, g, 22U, M A ClLaAL AlMA 3 s8R ?
(A) sl (B) dHI™
(©) [aamw (D) Balazel
“BelleldL 2ALoAL sl A2ll” dlsaHl Bauaamel s34 6 ¢
(A) BGdlad (B) 2ol
(C) “Wisdl (D) -l

“QlrIAL S[B151 UHIA AURE ASAHL AESIRAL USIR YRUL.
(A) 345 (B) Gyl
(C) Gelail (D) <ldzs

GUMIML O L5, U061 sl 51H SRl Ue 2 S8l ¢
A) [amel (B) -
(C) A (D) U™
AL s eUARSI A 2AUAL

(A) s Ay, (B) HSRIY dyALAL §4R SLECL v IRAL
(C) &R HERIOYA HOAL 2L, (D) ¥ AU AARL 53 sl

EURBL-5SHL GLRLAL GLL0LS IR AR 526 ACEHILO SIRLE 9
(A) 5000 20041 (B) 3000 21061
(C) 2000 20041 (D) 1000 21061



82.

83.

84.

8s.

86.

87.

88.

89.

90.

oy Al 215 BaRL 2L s [ABAvis 01 Sl el 53 s s ¢

(A) U UL
(C) g

(B) Y5l Al
(D) s s

“§ NS R EIRIASIARL ARUAL SUL USIRAL S ¢

(A) Uzs
(€) sdk

(B) 4 MRs
(D) sHlL

il (el (s301) AL [detld Uead eveudl.

(A) A, -, 4,
(C) 4, Hk

.

(B) ¥,
(D) @l »t

‘et sLull 251 ). alLsl AL A AL

(A) &«
(C) usl

‘gL 531 8R” — sl 58 [ABA & ¢

A) (s
(C) ML

(B) il
D) vl

(B) Ml
(D) sl

gcAHI HOL 243U ISR IUCL ACELA SUL ACEL SEARLE 9

(A) dcH
(C) &

‘Slza Woe 54 el 24
(A) sl
(C) =Rl

[Qzne{fAML AstiFs 1A (s Wiz 56 2albls weld 2y Guldll oidl 2 & ¢

(A) AR ugld
(C) AURAR wgld

NN

ale ?

(B) dgaid
(D) WM™

(B) 2ty
(D) gl

(B) oyl ugld
(D) vl uwsld

ALzl 53 Hsd Al Belezul 2l ¢

(A) WedyRds
(C) eyl

(B) 2oEsia
(D) sl Muley

Ty



M55
= SECTION-1V / @UE — IV

In this Section, there are 2 sub-sections i.e. IV(a) Mathematics and Science and
IV(b) Social Studies. Both the sub-sections consist of 60 Multiple Choice Questions each.

The candidate has to choose cither IV(a) Mathematics and Science OR IV(b) Social
Studies as selected in the Online Application Form and answer all the 60 questions.

30 @UE T g1 3uWUS YT IV (a) v qen fosm vd IV(b) srafes sieaa & | SF1 SUEvel &
T § 60 Tgferehedid T & |

wiremeff 61 IV (a) niftra aen femm sreran IV (b) wmaifster sreaam, fSeet s=e 31iHeTE 3Tt -u |
fopa 2, o @ Toreft weh v 1 g1 2 e Tt 60 IR HT ST TR |

SECTION-IV(a) / @US — IV(a)
MATHEMATICS AND SCIENCE / 7ifotd qen fasm

There are 60 questions in all in this section. The candidates who have selected this subject
must answer all the questions.

T @Us § A 60 w97 § | T ar=ff 3 5w v o6 == fopan 2 38 meft wem shem srfamd 2

91. The mode value of a series is :

(A) Intermediate value (B) Most frequency value
(C) Minimum frequency value (D) Marginal value
Tereft 2roft 1 SIgeTeh oI BT & -
(A) TEEdl qed (B) Haifersh SRFIRAT Hod
(C) A ST Hodl (D) HHT= Hed
92. The coordinates of a point on the X-axis are :
@A) (2,3 B) (0,2)
© 2,0 D (LD
X-3181 TR fer foreg o fceme &
A 23) B) (0,2)
© 2,0 D) 4,1
93. The probability of having 53 Tuesdays in an ordinary year is :
1 2
A 7 B) 7
3 4
© 7 D) 7
TS FIEROT Y § 53 TICTIR & <hl STfehd & -
1 2
(A) 3 ® 7
3 4
© 7 D) 7



94.

9s.

96.

97.

Which of the following is a teaching aid of Mathematics ?

(A) Napier strips (B) Logarithmic table

(C) Geometry box (D) All of these

T = & wifora fveor <61 s qmf @

(A) Hfrer afgat (B) wrgToTehTe HTeeft

(C) wfufy st (D) Ioft
[z
O £3:

Which of the following Mathematical statement is true ?
(A) Evaluation = Measurement + Judgement
(B) Evaluation = Measurement — Judgement
(C) Evaluation = Judgement — Measurement

(D) Evaluation = Measurement + Judgement

g a s o i sa a ? ?
(A) HeATh = AT + o (B) HedThd =" — i
(C) WouTeh = fufa — oA (D) HeAThA = Ao = Forg

Which of the following is not an Indian Mathematician ?

(A) Ramanujan (B) Brahmagupta
(C) Aryabhatta (D) Pythagoras
=1 o o By Tifras A& § ¢

(A) THTSH (B) s

(C) 3mvg (D) YT

Which of the following is not the type of cognitive objective in Mathematics teaching ?

(A) Knowledge (B) Understand

(C) Skills (D) Application

frafafaa & & %9 a1 fvra freer § SIS LW 1 TH THR AL 8 ?
(A) IH (B) 3IEEly

(C) =@ (D) JTIEM



98. Which of the following is not a method of Evaluation of teaching Mathematics ?
(A) Supervision
(B) Interview
(C) Teaching model created by student
(D) Dictation
ot 3 & 1 € o v 35 iR 61 fafer 7T 2 7
A) e (B) HIATHR

(C) BHEigieAm Memafesr (D)  yfaora

99. Mathematical statement whose truth has been proved is called :

(A) Theorem (B) Axiom

(C) Conjecture (D) Postulates

it e foreht wer firg ot € 8 R, a2 - mm
(A) T (B) 3ihwiea e
(C) el (D) Ffierom

100. Main objective of Geometry teaching is :
(A) To teach the use and measurement of mathematical tools.
(B) To develop creative imagination in student.
(C) To develop the power of object transmission in the student.
(D) All of these

T@TUTT f3reqor 61 TE LT ¢

(A) TIOTER IUhTUT = ST el W9 T ST HIAT |
(B) BTAI H T&TcH hedT Ifth o forehmd T |
(C) ST H Fwg N7 Irferd ol fohrd AT |

(D) ot

101. “Child is able to Recall definition of Rectangle.” This statement shows which learning
objective ?

(A) Understanding (B) Analysis

(C) Knowledge (D) Evaluation

“FTeTeh 3TTA hi TRUTHT T TN B FH |7 T8 HAH i § JATH Iz I TSR
HAT R ?

(A) 3IrEEy (B) forwerwmr

(C) = (D) HeATHA



102.

103.

104.

10S.

A child is able to construct a triangle on the basis of given measurement. Which main
objective fulfill through this activity ?

(A) Receiving (B) Responding

(C) Valuing (D) Skill

Teh STeteh TEU 7T ATY o MR WX Teh TSt Y TaA1 6 UTaT 8 | STeteh shi 39 Tifafafer gro form
T 39 H gfd B 8 ?

(A) 7w (B) FFR

(©) e (D) e

Children with strong intellect do not have qualities :

(A) They are more curious.

(B) Their area of interest are broader.

(C) They are emotionally unstable.

(D) The knowledge of reasoning is visible from young age.

T g dTel STetehl | I8 T[0T & &d & —

(A) ¥ At g e g |

(B) 3Teh! &1 b1 &1 M9k BT B |

(C) 3 FTeTeh GaTTTeneh ¥ & STEAUTE BId ¢ |

(D) 31eqTg § & b ik sh1 T gieT= 8l B |

=410

If 306 +8) =27CQx 1) then the value of x is :

A) 0 B) 1
© 2 D) 3
e 36+ =27+ DF A xHAAR :

A) 0 B) 1
€ 2 D) 3

1 1
If x +y=7and x* + y*> = 25, then the value of(;Jr;) is :

12 7
A = B) 33
7 1
© 13 ® 15
aﬁx+y=73ﬁ'{x2+y2=25?ﬁ,?ﬁg+aaﬂm%:
12 7
A = B) 33
7 1

© 13 ® To



106. A factor of the expression x> —2x + 1 is :

A) x—1 (B) x+1
C) x+2 D) x-2
SSAb x3 — 2x + 1 1 Teh UGS 7 :

(A) x-1 (B) x+1
C) x+2 D) x-2

. . 2 2
107. The solution of the equation 37 +5 ¢ =01is:

A) 0 (B) 1
© 3 (D) 2
e 2 -t 5
(A) 0 B) 1
© 3 D) 2

38 100 5
108, — +~,— x \/125 1s equal to :
Ji6 V49 a

(A) 7 ® 1
4 1

© 7 D) 7

Y8 100 , .

T Ex\/ﬁaw%.

(A) 7 ®) 2

© 3 ® 7

: . 3 o
109. The simple interest on a sum of money for 5 years becomes 3 of the principal, then the

rate of simple interest will be :
(A) 10% (B) 8%
© 12% (D) 14%

Wwﬁaﬂsaﬁwmﬂmwwmw% Bl ST 8, 1 SR ST <hl gt &R -

(A) 10% (B) 8%
C) 12% (D) 14%



110.

111.

112.

113.

If the loss caused by selling an article for ¥ 560 is ¥ 50 more than the profit made by
selling it for ¥ 720, then the cost price of the article is :

(A) T 665 (B) %615

(C) 600 (D) %620

e fopet o I T 560 T =+ @ g3 g1, T 720 § 9= | §U Y ¥ T 50 37146 81, a1 a%g 1
FAA @ -

(A) T 665 (B) %615

(C) T 600 (D) %620

If the cost of 5 bananas and 4 apples is equal to the cost of 3 bananas and 7 apples, then
the ratio of the prices of a banana and an apple will be :

(A) 1:4 (B) 3:2
(C) 4:3 (D) 3:5

FfE 5 ht AT 4 EE1 1 JeF 3 hel AT 7 el o Jod o SR &I, a1 Teh hel a1 Th 69 &
Tl ST TIITA BT

(A) 1:4 (B) 3:2 mi5m

(C) 4:3 (D) 3:5 L

If 75 is added to 75% of a number, the same number is obtained, then that number is :

(A) 300 (B) 270
(C) 250 (D) 225
e forell G 75% T 75 SRt g€ HEAT IT &l ST, 1 o8 H&A1 § :
(A) 300 (B) 270
(C) 250 (D) 225

The present population of a village is 1,30,910. If in the previous years there is an increase
of 6%, a decrease of 5%, an increase of 4% respectively, then the population of 3 years
ago was

(A) 1,30,000 (B) 1,10,000

(C) 1,25,000 (D) 1,15,000

Teh TITel oh! FaHM SHEET 1,30,910 7 | A 7d 961 H ST 6% 3l JhG, 5% i HHT, 4%
g gE &, at 3 v g 1 e of

(A) 1,30,000 (B) 1,10,000

(C) 1,25,000 (D) 1,15,000



114.

115.

In the given figure, the lines XY and MN intersect at point O. If ZPOY = 90° and
a:b=2:3, then the value of Zc will be :

iP
M
d
b
— 3 >
C
N
(A) 90° (B) 126°
(C) 144° (D) 150°

T T o o @ XY T MN g O W Wfd=ee &l & | ¢ LPOY =90° 3{Ra:b=2:3
B, @ Lc T HH BAT

M

A
o
v
[w]1[m]
ﬁ i

X &) Y
C
N
(A) 90° (B) 126°
(C) 144° (D) 150°

If all the three sides of one triangle are equal to the corresponding three sides of another
triangle, then the two triangles are :

(A) Perpendicular (B) Congruent

(C) Parallel (D) None of these

1fs ek et o1 T T, g Pt <61 e e gt 3 A, 41 A e e E
(A) =g (B) wafmem

(C) HHTHR (D) 3T q HIE Tl



116.

117.

118.

119.

120.

The length of a chord at a distance of 6 cm from the center of a circle of radius 10 cm is :

(A) 12cm (B) l4cm

(C) 18cm (D) 16cm

10 H=Tefiet o a1t 9 & e & 6 Feiiet g W fera Sfan i e 2 -
(A) 125 (B) 14

(C) 18@H (D) 16%H

If the perimeter of an equilateral triangle is 48 cm, then its area will be :

(A) 64~/3 cm? (B) 5542 cm?

(C) 324/3 cm? (D) None of these

Ife fopeft Twemg et w1 uftaTy 48 FEHICT &1, O Wb She B -

(A) 643 i &t (B) 55+/2 ai @t E%‘E
() 32y5 &l (D) T F T =

If the lengths of the diagonals of a rhombus are 10 cm and 24 cm, then its perimeter will
be :

(A) 34cm (B) 68cm
(C©) 52cm (D) 56cm
e Teh FHAGHS o TorehvTl ol Temsat 10 HEHIet 3TR 24 T=HIE &, 1 SHehT TIwTd BT -
(A) 343 (B) 68T
(C) s52% (D) 56 Tt

A room is 12 metres long, 9 metres wide and 8 metres high. What is the longest rod that
can be placed in it ?

(A) 29 metre (B) 17 metre

(C) 15 metre (D) 21 metre

Teh AN 12 Hiet v, 9 Hiet =il a2 § Hiel S 2 | 39 o) § 9 feprat ot © Wl 5
TRt & ?

(A) 29 #HiX (B) 174X

(C) 15#HIX (D) 214X

The main objective of tabulation is :

(A) Presenting the data on the basis of their characteristics.
(B) Presenting the data in a systematic manner.

(C) Presenting complex facts in simple form.

(D) All of these

(A) HHHI I ITeh! TTIATATST o YR I I BT |
(B) HHhI ! shHEG FATLId Y H Td BT |

(C) Sfeet a2l ! atel &9 H Y&Id T |

(D) At




121.

122.

123.

124.

125.

In which group the unicellular, Eukaryotic organisms are included ?

(A) Monera (B) Protista

(C) Fungi (D) Plantae

fona T o ws HIRTRR, i Sha aftrfea fora s € 7
(A) = (B) wifeEe

(C) &= (D) =

After fertilization, a mature and developed ovary is known as —

(A) Seed (B) Endosperm

(C) Fruit (D) Embryo
= % uvaTq, T forefed o uftue 3TveTer i hEd & —
(A) o (B) wweSrerH

(C) & (D) ¥

Which one is not necessary for photosynthesis ?

(A) Sunlight (B) Carbon dioxide

(C) Chlorophyll (D) Oxygen E"E_'
TehTIHIAUT o foAT o 3Tereareh T8 @ 7 '
(A) T b (B) T ST3ATTES

(C) TS (D) 3T

During respiration in plants the breakdown of glucose to Pyruvic acid is called —

(A) Kreb’s cycle (B) Calvin cycle

(C) Glycolysis (D) Fermentation

T H Y9 % G TIehIS! 1 UTSEIeh 310 § ferdres shgardl & —
(A) hed %k (B) hfcad =k

(C) TeIEhHIATEH (D) feruam

Who first described Golgi apparatus ?

(A) Robert Hooke (B) Robert Brown

(C) Camilio Golgi (D) Leeuwenhoek

FEYUH Tiesi! TR ohi Tohe affa foman 7

(A) THTH (B) T STA

(C) HHIel et (D) &S



126. Which bacterium causes ‘“Whooping Cough’ disease in human ?

(A) Bordetella pertussis (B) Corynebacterium diphtheriae
(C) Mycobacterium leprae (D) Neisseria gonorrhoeae

I T SfiaT] & 7HE § el @il IR e 7

(A) SREee weR (B) eI fererdem

(C) WTShiSsIiET audt (D) i mafer

127. Which type of sweat glands are present in human skin ?

(A) Apocrine (B) Holocrine

(C) Eccrine (D) All of these

Hel e B e TR i | TehR <l Bl & ?

(A) T (B) EreiwTe e
(C) T (D) F=f e

128. Disease caused by deficiency of Vitamin-D (Calciferol) is :

(A) Night-blindness (B) Beri-Beri
(C) Scurvy (D) Rickets
a2t (hfcafhia) 6t it & g IreT U 8
(A) Taieft (B) -
(C) et (D) frohea

129. In which animal asexual reproduction occurs by budding ?

(A) Amoeba (B) Hydra
(C) Plasmodium (D) Leishmania
B & o e g et S B R 7
(A)  Frra (B) MRSl
(C) wATHItSaH (D) et
130. Which hormone controls maturation of egg in ovary ?
(A) FSH (B) TSH
(C) ADH (D) GH
I A1 EHM ST H ST 3 aiusar i fEha s g ?
(A) FSH (B) TSH

(C) ADH (D) GH



131.

132.

133.

134.

135.

Example of sexually transmitted disease is —

(A) T.B. (B) Cancer

(C) Gonorrhoea (D) Pneumonia

A1 Gt T b ST B —

A) A (B) e

(C) T (D) =

The example of Kharif crop is —

(A) Gram (B) Pea

(C) Maize (D) Linseed

T 6 HHA HT IR & —

(A) = (B) "X

(C) HFpI (D) 3Tt

Which of the following is the oldest teaching method ?

(A) Reminiscences method (B) Evaluation method
(C) Projective method (D) Anecdote method
frfaRad 3 9 ®F € ga9 yr=iA e fafa g 2

(A) Fh fafa (B) Heain faf c i
(C) e farfer (D) werh faf

Meaning of comprehensive evaluation in continuous and comprehensive evaluation —
(A) Evaluation of educational field

(B) Evaluation of co-educational field

(C) Evaluation of educational and co-educational field

(D) Evaluation of all subjects

Td Ud ST YeToh H SATdeh HoToh 1 aTedd & —

(A) NfeTeh & 1 YoaTR

(B) wg-ifereh &4 1 oAt

(C) feqe va g -fereh &= 1 geaTehd

(D) =¥t forwai o1 yemehd

Which teaching aids are not included in the visual equipment ?

(A) Projector (B) Film strip

(C) Poster (D) Gramophone

i ot e -wgreres amft gy -3ushtor § wftifed 7€ 7 7
(A) TSR (B) Thew feg

(C) UK (D) TTHHH



136.

137.

138.

139.

A force F is acting on area A. If the force is double and the area is halved, the resultant
pressure will be of the initial pressure :

(A) half (B) double

(C) one-fourth (D) four times

T 9 F forelt &3 A T @1 2 | TS S il QAT AT & i 3T H G, a1 TR e
IR STe 1 BT

(A) 3an (B) gﬂ:ﬂ
(C) Th-=ors (D) =N

A wooden spoon is dipped in a cup of ice-cream. Its other end
(A) becomes cold by the process of convection.

(B) becomes cold by the process of radiation.

(C) becomes cold by the process of conduction.

(D) does not become cold.

AR h Teh THT i STTFHEHIH o RTCl § IR ST & | FHRT gE R
(A) TEET TishaT o RO SST &l ST |

(B) ferfertor afsran & sror Se1 81 S |

(C) =Te fshaT o ShIUT 3T &l ST |

(D) 1 & | OF{D

Image formed by a plane mirror is :

(A) virtual, behind the mirror and enlarged.

(B) virtual, behind the mirror and of the same size as the object.
(C) real, at the surface of the mirror and enlarged.

(D) real, behind the mirror and of the same size as the object.

FHae U gRT SR T WAt B @

(A) 3TYTE, gUur & d T et

(B) ITTE, gdur & e qe foia o dTgst o St
(C) aTfah, SUUT o Y53 TR qeT TTafed

(D) aTEafereh, gur o i qer foie o @13 o se

The limit of audibility for healthy human is :

(A) 10 Hz to 20000 Hz (B) 10 Hz to 2000 Hz
(C) 20 Hz to 20000 Hz (D) 20 Hz to 200000 Hz
Tl U o ToTu srearn iwn gt 2

(A) 10 Hz @ 20000 Hz (B) 10 Hz® 2000 Hz

(C) 20 Hz ¥ 20000 Hz (D) 20 Hz & 200000 Hz



140.

141.

142.

143.

Full name of LED is :

(A) Light Emitting Doll (B) Light Emitting Dynamo
(C) Light Emitting Drum (D) Light Emitting Diode
LED &1 qU I 8T & :

(A) THI IcHh i (B) JehTST IcEsieh SIA-HT
(C) SehTT ScHSIh g (D) ThTIT IcESieh SIS

Electric-cell converts

(A) mechanical energy into electric energy.
(B) electric energy into mechanical energy.
(C) chemical energy into electric energy.

(D) electric energy into sound energy.

fergga et uftarfda seam 8
(A) FibmSeiw fa@satd  (B) foega ot i Fifyes ot A
(C) THRMS Sl bl faga et 8 (D) Taegd Sott o1 &afd St &

Order of planets according to distance from the Sun is :
(A) Mercury, Venus, Mars, Earth
(B) Venus, Mercury, Earth, Mars
(C) Mercury, Venus, Earth, Mars

(D) Mercury, Earth, Venus, Mars %‘%ﬁ

T 4 Gl o STER T8I HI A S

(A) 9, I, 7, Jet (B) I, 34, Jel, et
(©) 79, T, T, W (D) 94, T, 3, WA

Which of the following is not a criteria of a good test ?

(A) Reliability (B) Validity

(C) Objectivity (D) Subjectivity
frrferiaa o & 5 o1 weh 30 wder %1 aves TE R ?
(A) Torveeerar (B) QeEran

(C) aEgrs (D) SEfFTTRRAT



144.

145.

146.

147.

148.

149.

150.

The process used in the separation of rice from paddy stalks is —

(A) Hand picking (B) Threshing

(C) Winnowing (D) _Sieving

et <h! FE SFEAT | et o TR H T ThH B -
(A) T&=IA (B) SINE

(C) fwmEA (D) =T

One of the steps used in the process of formation of common salt from sea-water is —
(A) Distillation (B) Condensation
(C) Vaporisation (D) Filtration

T STt TN T0eh S o ThH H Jed Ueh UE & -
(A) e (B) e A

(C) dam= (D) fiere

The chemical substance present in calamine solution that is applied on the skin to
neutralise the effect of ant bite is —

(A) Calcium carbonate (B) Zinc carbonate

(C) Sodium carbonate (D) Sodium hydroxide

<idl o T o THTE i IS A o foTT, =T UL ST A ol hotHTs foretaq | Iuferd
TEEI g B -

(A) Ffcgam FEHe (B) T e

(C) wifesm Hreie (D) HifeaH ERgITES

The oxide responsible for acid-rain is —

(A) H,O (B) CO

(©) SO, (D) CO, E’ =
3T -1 b fofu Ieerh sredTss 2 - '
(A) H,0O (B) CO

(©) SO, (D) CO,

The pair of thermosetting plastic is —

(A) Polythene, PVC (B) Polythene, Melamine
(C)  Bakelite, PVC (D) Bakelite, Melamine
yTafdT wfeeeh o1 31 & -

(A) wiferefs, defe (B) uifcrefiw, HermTs

(C) ehairge, dreiedt (D) ShalTse, HATHTE

The fuel with highest calorific value in kJ/kg unit is —

(A) CNG (B) LPG

(C) Petrol (D) Hydrogen

kJ/kg gohTS W Halfires Sreeta Wi ot S48 -

(A) HieTs (B) TeiSh

(€) T (D) @S

The type of teaching aid involved in experiment done by a student in laboratory is —
(A) Audio aid (B) Visual aid

(C) Audio-visual aid (D)  Activity aid

weh foremeff gra swTeTTer # s foRd 5§ ffea fregor dem 1 yeR © -
(A) oI HIEA (B) ¥ AIEH

(C) FA-gI A (D) ToraTeTes Tem



SECTION-IV(b) / ©UE — [V (b)

SOCIAL STUDIES / |THIGTR 31895

There are 60 questions in all in this section. The candidates who have selected this subject
must answer all the questions.

30 @ H HeA 60 T3 & | T sl 7 s fower 61 == foparr 2 32 @l woa e arfaed 2

91.

92,

93.

9.

9s.

Who was the Deputy Chairman of the Constituent Assembly in India ?

(A) Dr. Rajendra Prasad (B) K.M. Munshi

(C) A.N. Sinha (D) H.C. Mukharji

R shi Gfaee fmiE 9 % smerg wa 3 7

(A) . Toig 991G (B) .uH. gt

(€) T fem D) T, gEsh

“Right to Property” is presently mentioned in which Article of the Constitution of India ?
(A) 224 (A) (B) 290 (A)

(C) 300(A) (D) 312 (A)

“Fafl 1 SRR T H WA o HiGHH o b 3T=0g § afvid @ ? E%I??
(A) 224 (%) (B) 290 (F) e
(C) 300 () (D) 312()

Which Constitutional Amendment was made to provide opportunities for education to the
children of 6 to 14 year of age ?

(A) 740 (B) 81t
(C) 86™ (D) 91t
68 14 I9 30 < STeTohi i 7T o STHX ITSTeY U 2 1 &1 GIdT FEA foha T ?
(A) 74at (B) 81af
(C) 86at (D) 91af

Who are included in the electoral college of the Vice-President of India ?

(A) Nominated members of Parliament

(B) Elected members of State Legislative Assemblies

(C) Both (A) and (B)

(D) Nominated members of State Legislative Assemblies

A o ITUPILd o et AvSe § i MM 8 7

(A) HEE % TAHIT T (B) T fagraaai & fatfaa g

(C) (A) 3R (B) Ml (D) T faumaenati o I g

Which Article of the Constitution of India described the Power of the President to
“consult” the Supreme Court of India ?

(A) 143 (B) 147
(©) 140 (D) 145
YR o ITH AT T TIHS i <hl T 1 3okt TRA o TITH o foh Sq=sg Hafia § 7
(A) 143 (B) 147

(€©) 140 (D) 145



96.

97.

98.

99.

100.

101.

In which Part of Constitution of India described the Urban Local government ?

(A) 8 (B) 9(A)
€) 11 (D) 10(A)
AT o Giqu™ & ford Wi & sl e e aftfa 2 2
(A) 8 B) 9 (&)
©) 11 (D) 10 ()

What is the minimum number of Women Members in the National Commission for
Protection of Child Right ?

A 2 B) 3

) 4 D) 5

T 1ot ST Eerer SR 8 =an e wiyen dew g Frfer € 7

(A) 2 B) 3

€ 4 D) 5

According to Article 74 of the Constitution of India on whose advice does the President act ?
(A) Council of Minister (B) Vice-President

(C) Speaker of Loksabha (D) Governor

WA % TlUT % e 74 o dad Ugld fhesh! Hellg & i Hidl g ?

(A) Tt uftyg (B) 39gyfd g%%
(C) ATHTAT e (D) TSI meE

Which of the following is a group of inner planets ?

(A) Mercury, Venus, Earth, Jupiter

(B) Venus, Earth, Mercury, Mars

(C) Earth, Mars, Venus, Jupiter

(D) Earth, Mars, Jupiter, Saturn

fafafed & & 5 @ safes TR FT TR AR R 7

(A) 39, 9%, gl geerfa  (B) ¥, T, U, WA

(C) YA, WA, 3h, FEEATd (D) 9, WS, el W
Which of the following is a correct statement with reference to latitude and longitude
respectively ?

(A) 87° North to 197° East (B) 56° North to 91° South
(C) 101° East to 192° West (D) 23° North to 66° East
frfaRad 9 & shuen: S1&TeT 9 GRIT=R & Ty § HEl e |
(A) 87°IWH 197° 4 (B) 56° I A 91° gfequr
(C) 101°q& & 192° ufyem (D) 23°3IWH 66° T

Equinox is related to -

(A) 21 March (B) 29 February
(C) 22 December (D) 21 June
forge Herfra & -

(A) 219 ¥ (B) 29wl Y

(C) 22fcm=Rd (D) 213



102.

103.

104.

105.

106.

Which range is located in the north-west direction of the Peninsular Plateau ?

(A) Vindhyachal (B) Satpura

(C) Aravalli (D) Eastern Ghats

D H T TR U3 % Ii-ufvem femn d fea g 2
INBREEIES (B) waqst

(C) s (D) e

Which of the following is related to endogenic forces ?
(A) Wind, Glaciers, Volcano

(B) Volcano, Landslides, Earthquake

(C) Earthquake, Landslides, River

(D) Glaciers, Sea-waves, River

frafefgd O 9 1 91 3Tasid 9ol @ gEfRa g 7
(A) e, fee, seremet (B) ST, EEer,
(C) Y™, EaeH, Tdl (D) Tewe, EHE-aa, a1

In 1947, he was then Director General of the Archaeological Survey of India.
(A) Alexander Cunningham (B) R.C. Banerjee

(C) R.E.M. Wheeler (D) Sir Jhon Marshal

1947 ¥ MR qUdcd Fei&T0] o Aehlef- SrRNael - id

(A) 3ITIFIST HiTEH (B) R, Sl gl%%
(C) 3TR.E.TH. SR (D) &S wTte mEE

Which Satavahana ruler claimed to be both, a unique Brahmana (eka bamhana) and a
destroyer of the pride of Kshatriyas ?

(A) Satakarni -1 (B) Shiv Skanda Satakarni

(C) Simuka (D) Gautamiputra Sri — Satakarni

fope ATqaTE ST J W HI IFST TR (THh STHAT) T &™T o G4 1 & i arel
IR

(A) STTAehUT-Jd (B) T3ra whg siaeuft

(C) fergeh (D) i Sft-Smaesoft

At which place in Gujarat were the teachings of Lord Mahavira and his followers
presently available were written down about 1500 years ago ?

(A) Valabhi (B) Lothal

(C) Rangpur (D) Bharuch

UM FI H IUCTeY WA HEER T 3eh STTATRRT <l freamd @t 1500 a9 qdf Torra o
fope o ot forlt 778 off 7

(A) Tt (B) U

(C) T (D) &=



107.

108.

109.

110.

111.

Which ‘Tripitaka’ tells us that there were separate branches for men and women in
‘Sangha’ ?

(A) Abhidhamma Pitaka (B) Sutta Pitaka

(C) Vinaya Pitaka (D) None of these

T | TN 37 Rl o 1@ ot 37— 37en sxewen off, g g fohd fiftess o war seran & ¢
(A) ATy foes (B) ga e

(€) forra e (D) & 8% T

Which rivers contributed significantly to Magadha’s transportation, water supplies and
making the land fertile ?
(A) Godavari — Tungabhadra (B) Ganga— Son

(C) Chambal — Mahi (D) Krishna — Kaveri

i Tt et 3 T % AT, o - Tt vd S| Sl 3uses s | TEweut A fen ¢
(A) Tiere — g (B) M@

(C) =t — ATl (D) M — Tl

Most of the Ashoka’s inscriptions have been found in -

(A) Prakrit Language and Brahmi Script E%%
(B) Pali Language and Devnagari Script EEE.
(C) Sanskrit Language and Brahmi Script

(D) Punjabi Language and Gurumukhi Script

3190 o 3ferenTer il TR T E -
(A) Tha Wyt R ST feAfy (B)  wfer Wt SR SEArR fofy
(C) o&ha w1 SRSt Ay (D) Tl W 3R e foafy

Which land was granted to Brahmanas and was usually exempted from paying land
revenue and other dues to King ?

(A) Agrabhag (B) Agrahara

(C) Agradaan (D) Bhumi-dan

g ShIF | -9 AT ST SITE0N < € feaT SITam &1 qe 398 it 9 3777 TR % L TS g
& A ST I ?

(A) 3TIA (B) 3TUER

(©) FwEH (D) H{H-aH

In which language was the “Prayaga — Prashasti” composed by Harishena, the court poet
of Samudragupta ?

(A) Prakrit (B) Hindi

(C) Pali (D) Sanskrit

TR -SRI’ <hl T FHEI b TsTehid g 7 fohd wTaT 5 <61 off 7
(A) HThd B) &=l

(C) it (D) H&pd



112. The Shunga dynasty was founded by which General of the Mauryas ?

(A) Pushyamitra Shunga (B) Agnimitra Shunga
(C) Vasumitra Shunga (D) Devbhuti Shunga
I 91 ST TITIAT foRe T BRI g 6l TS off ¢
(A) TSR 3 (B) A== I
(C) =g g (D) a3
113. Choose the Kanishka’s court poet who composed a biography of the Buddha, the
‘Buddhacharita’.
(A) Saundranand (B) Ashvaghosha
(C) Shudrak (D) Harshvardhan
S-S T TSTehid G ST g5 <l Sfiarl, ‘Fgaia’ shl TaA1 <l ot |
(A) "< (B) 3Tead
©) IEH (D) &
114. Which was an administrative subdivision of a Mughal province ?
(A) Peshkash (B) Jaagir
(C) Milkiyat (D) Pargana
e Wil | Teh YMTEfh JHSH hid 9T T ? i
(A) UIHIA (B) SR Eﬁ?
(C) Tufewaa (D) UTHI
115. Which is a Major poetic anthology of Alvar Saints also known as Tamil Ved ?
(A) Tondaradippodi (B) Karaikkal Ammaiyar
(C) Tavram (D) Nalayira Divyaprabandham
IR Fl 1 Th G I HehoT 1918 Afet ¢ o &9 § off S1 911 8
(A) digutsets (B) HiZFhTT STFHZAR
(C) qaw (D) "RRIfeeTaYT
116. The Mother of Mughal ruler Jahangir belong to which Rajput dynasty ?
(A) Kachhwaha (B) Rathore
(C) Parmar (D) Chouhan
TS Tk TR <ht wTaT fohet Tetqd a1 | aiferd off ¢
(A) FoaTel (B) TSl
(C) UER (D) =g

117. “A cherry that will drop into our mouth one day.” In 1851 the Governor — General Lord
Dalhousie said this statement about which state ?
(A) Satara (B) Awadh
(C) Jhansi (D) Nagpur
“J Hel Teh T AR & Hg | Tt fIeT 17 1851 | o SRt ol Satarst o I8 S fohd
fama s e A et ?
(A) g (B) @Y

(C) (D) TR



118. Which day was earmarked for “Direct Action Day” ?

(A) 14 August 1948 (B) 16 August 1947
(C) 14 August 1946 (D) 16 August 1946
‘Tl ShaTe) feaw’ v i 1 e it femam mam o 2
(A) 14 317, 1948 (B) 16 31T, 1947
(C) 14 377, 1946 (D) 16 3T, 1946

119. By which Constitutional Amendment the Age of adult suffrage in India was reduced from
21 years to 18 years ?

(A) 59 (B) 61
(C) 63 D) 71
form Gfaam Heem o gRT YIRd § 99 TaTehi i 31 21 99 & T 18 I i TRt ?
(A) 59 (B) 61
(C) 63 D) 71
120. Which feature is not in the “Preamble” of the Constitution of India ?
(A) Secularism (B) Federal Government
(C) Political Justice (D) Equality of Status
A o GITEH hl TEqTeT § i Hi foemar &i & 7 -
(A) dy-Fraeran (B) ¥ wImeH =
(C) TSHifaeh =m (D) wfcrsT St T
121. During the reign of which ruler Pichola lake was built ?
(A) Bappa Rawal (B) Maharana Lakha
(C) Rana Sanga (D) Rao Chunda
Torten sfiet o1 fmior foher wITereh o ret | 53T 7
(A) ST A (B) HERIUT A&l
(C) T g (D) TE Tuel
122. “Jaisingh Karika” written by Sawai Jai Singh related to which subject ?
(A) Astrology (B) Economics
(C) Politics (D) Military administration
TaTs St g foiRad “Srafig Siienr T 7Y fhg fowa @ wafua g 7
(A) Hifaw (B) A&
(C) Tt (D) B=I-INTEH

123. ‘Pichwai Painting’ related to which school of painting ?
(A) Kishangarh School of painting
(B) Bikaner school of painting
(C) Alwar school of painting
(D) Nathdwara school of painting

e faer forg e A B weafta @ 2
(A) Toremg femeen et (B) iR Fasehet Rett
(C)  3TeteR fesrehet Seht (D) TIgR fFerehet Steft




124.

125.

126.

127.

128.

‘Rangadi’ and “Nimadi’ are subdialects of which Rajasthani dialect ?

(A) Malawi (B) Wagdi

(C) Hadauti (D) Shekhawati
TIEr IR Al form o Siet i IusiforEt @ ?
(A) HTeTe (B) =mTEl

(©) weid (D) STt
Who was also known as ‘Meera of Wagad’ ?

(A) Meera Bai (B) Gavari Bai
(C) Koyal Bai (D) Kali Bai
I AT hl HR o I8 T oft ST S oft

(A) e (B) et aTE
(C) I TS (D) et &8

Which one of the following is not the aim of Social Science ?

(A) Intellectual and Mental development

(B) Utilization of leisure time )
(C) Helpful in bringing social changes %%
(D) Teaching etiquettes (L
7 5 8 % a1 g foem S Aer TE | 7

(A) sifges 9 i fomm (B)  3TShIRT o THA 1 TG HEAT
(C) TR IiEds o § T8/ s=-1 (D) faremor firsmem

The importance of teaching-learning material in Social Science is :

(A) Save time and energy (B) Clarity of the subject matter
(C) Both (A) and (B) are wrong (D) Both (A) and (B) are correct
TTRTes forsm o freor- srferm amaft 1 wEw @ -

(A) T9F 3R afeem <t s=a (B) T % hi Taman

(C) (A) 3R (B)QHITad & | (D) (A) 3R (B)THI TR 2 |

‘Social Science refers to those branches of the study that deal with humans in their social
relations.” This definition was given by —

(A) Columbia Encyclopedia

(B) Britannica Encyclopedia

(C) Encyclopedia of Social Sciences

(D) Report of, The Commission on Social Studies, USA

“HrHTRTeR fogie & aread 31eae <hl 39 ITEIsT 9 g S " 7T ] 39k HIATSeh TFel %
g § guge d 98Rdr d @ |7 I8 IR € e —
(A) HIAT TrTgSAd e

(e aN

(B) Tsrefent wammgadifean
(C) TAHTSFATISAT AT HISTeT AT
(D) TR LR AR, .08 T, 6 fure




129. Use of Information Technology in Education started first in which country ?

(A) Britain (B) USA
(C) France (D) Germany
AT Tehriteh! b1 T3 H Herd Tget Iu=T fohdt gm | fopam a7
(A) Tor (B) 3.WH.T
(C) %@ (D) R
130. Which criteria is not correct for a good evaluation ?
(A) Validity (B) Reliability
(C) Objectivity (D) Subjectivity
Teh 378 YedTehl o fo1U shie o1 HIUeE Hel TEi B 7
(A) Qeran (B) Towagtaran
(C) wgfsal (D) SATHITRAT
131. Values of Social Science teaching are —
(A) Social Value (B) Democratic Value Wi
(C) Artistic and Recreational Value (D) All of the above Eﬁ?
T s e < g & -
(A) G I (B) AT e

(C) HeATcHS IR HARSHIHSD oo (D) 3w deft

132. Summative Assessment is inappropriate for the following :
(A) Deciding upon the grade
(B) Summarising student learning
(C) End of the term assessment
(D) Monitoring the progress of teaching — learning process
HeheTTcHeh oaTeh {1 o foTt 31U & —
A) 2oft (=) Fiftsa s o
(B) fereneff srftrm <1 oR Haw dIR HW T
(C) & e |
(D) faregor-arfermm gferan 6t wifa o oot o

133. Which of the following subject is not included in social science at the upper primary level ?

(A) History (B) Civics

(C) Geography (D) Psychology

et 3 & ot forwa 3= Tfives e ax AT fert # wftifera TEi @ 2
(A) sfaem (B) ANTREH3IE

(C) o (D) WA



134.

13S.

136.

137.

138.

Which one of the following is the correct example of ‘Application objective’ of teaching ?

(A) Define (B) Classify

(C) Establish (D) Recall

o1 5 & freror o TR 32T’ T T ISR -

(A) TRTST ST (B) afientor AT
(C) TeqTfud et (D) IO AT

Main components of Information Technology are —

(A) Software (B) Hardware

(C) User (D) All of the above i
T Ahr1ehl o T Th & — Eﬁﬁ’
(A) WRER (B) TERR

(C) 3IuFTThdl (D) 39wt

Which permanent wind blows between 30° South to 60° South latitudes ?

(A) South — East trade winds (B) Polar Easterlies

(C) Westerlies winds (D) North-East trade winds

it wrf Tad 30° gfaolt sramTeT @ 60° gftoft sterren o He yarted BNt € ?

(A) <l smaTiies ged (B) gt qeff wed

(C) UG UaH (D) IT-& ST qa-

Where do willy-willies cyclones originate ?

(A) West Australia (B) Pacific Ocean

(C) Atlantic Ocean (D) Indian Ocean

forefi - ferefst =rshaTd e ST 81 & 7

(A) afveft stregfer (B) NI HEMTR

(C) 3feeATesh HEHTR (D) feg 9er@TR

Which of the following oceanic currents are located in the South Atlantic Ocean ?
(1) Brazilian Current (2) Benguela Current

(3) Opyashio Current (4) Gulf Stream Current

(A) 2,4 (B) 1,2

©) 3,4 (D) 1,2,4

frferiaa wemm gt § @ o @t g gfaoft sreaifes TR | fra 8 7
(1) STSfferRE g/ (2) ST 9

(3) STmfEl g (4) % W 9

A) 2,4 (B) 1,2

<) 3,4 D) 1,2,4



139.

140.

141.

142.

Dehradun, Kotlidun and Patlidun are located at
(A) Between Himadri and Himachal

(B) Between Himachal and Shiwaliks

(C) South of Shiwaliks

(D) North of Himadri

GBNIGH, Hieciigd Td Teeiiqd ferd & -
(A) Teurdh o femmeret & 7ex (B) Teameret o Rranferes & wem
(C) REnfas selmfiamie (D) fEamwE % sod v «

In August, at which latitude does the Subtropical Easterly Jet Stream blow in India ?

(A) 8°North (B) 15° North
(C) 27° North (D) 37° North
3T HTE U WA | IuTsorehfeaefa qeff Ste T e foma sramet i yanfed ardt 8 2
(A) 8°3I™ (B) 15°3W

IO O]
(C) 27° IR (D) 37°3W Eﬁ?

The correct order of the physical regions of Rajasthan located from North to South is
(A) Vindhyan range — Luni Basin — Shekhawati Region — Mahi Plains

(B) Luni Basin — Vindhyan range — Shekhawati Region — Mahi Plains

(C) Shekawati Region — Vindhyan range — Luni Basin — Mahi Plains

(D) Plains of Ghaghar — Bhorat Plateau — Shekhawati Region — Luni Basin

TSTEAT o Wiifereh TuTi o1 TR & gfequr fem & srafeufa w1 et s g -
(A) Toem goft - ot 9 — EmEd yew — AT 6 8gH

(B) <t afem — faerm Joft - srEmadt wewr — A 1 8|

(C) r@Tad Yes — faem guft — oft 9 — =rEt &1 2w

(D) TR HT HGH — TS T SR —> IGTEE T — A SfeH

Which of the following is an example of Arabian Sea drainage system ?
(A) Menal, Kothari, Berach (B) Jojri, Berach, Menal

(C) Kothari, Som, Ruparel (D) Jojri, Bandi, Jawai
frefafad & @ swe ARl 3T9aTE 0= 1 ISR R
(A) AT, HIRBA, 94 (B) IwEl, 984, AT

(C) HIBH, T, TIRS (D) i€l et SaTs



143. Match the following :
Name of Sanctuary
(1) Desert National Park
(2) Todgarh Raoli
(3) Sita Mata
(4) Mount Abu

Hm 2 3 @

(A) ¢ a d b
(B) a c b d
< d a c b
D) b d a c
ﬁ'ﬁ'r?i?[ ﬁﬁﬂ :

HANIRTY <kl AH

() TdE#sesaE (a)
(2) ZreTe Taeh (b)
(3) Etar Hren (c)
(4) =< 3Y (d)

m @ & @
(A) ¢ a d b
(B) a c b d
< d a c b
D) b d a c

144. Match the following :

Mineral
(1) Lead Zinc
(2) Copper
(3) Gypsum

Wild animal
(a) Panther
(b) Bear
(c¢) Great Indian Bustard
(d) Flying Squirrel

Use

(a) Electric Wire
(b) Fertilizers
(c) Ceramic

(4) Wollastonite (d) Battery Acid

(;) @ G @

(A) c d a
B) ¢ d a b
(C) a b c d
(D) d a b c
gafera $Hifa :
wf=
(1) =i s (a)
(2) st (b)
(3) fm ()
(4) TfcieMTse (d)
M @ & @
(A) b c d a
B) ¢ d a b
(C) a b c d
(D) d a b c

Egm
'ﬁ..lﬂ‘



145.

146.

147.

148.

149.

150.

The headquarters of North-Western Railway Division is located at

(A) Jaipur (B) Ajmer

(C) Kota (D) Jodhpur

IR-TITEH ToTd HUge 1 TedTerd fRua § -

(A) SR (B) 3

(C) =i (D) g

When did Rana Sanga died ?

(A) 30 January, 1528 (B) 30 July, 1527

© 28 August, 1529 (D) 29 November, 1530

T | <6l G e §S 7

(A) 30 Sl 1528 (B) 30 e, 1527

(C) 28 37T, 1529 (D) 2999w, 1530

Who was the founder of Vishnoi sect ?

(A) Pipaji (B) Achalnathji

(C) Jambhoji (D) Ramanandji -
TS eI o Jedeh b 9 ? =4
(A) YT (B) TS

(C) arh (D) TR

Who was the editor of the newspaper “Pratap” which gave wide publicity to the Bijoliya
Peasant Movement ?
(A) Ganesh Shankar Vidhyarthi (B) Rama Kishan Verma

(C) Manikyalal Verma (D) Ramlal Ojha

festiferern fopam™ 3T=gIeT sl =TI SR ¢ aiTet THTER-UF “WdTq” o TUIGeh i & ?
(A) TTorer SeRt feremeff (B) T foper awt

(C) TfoTeRIeATer ot (D) AT 3T

When was the Matsya Sangh established in the first phase of Rajasthan integration ?
(A) 30.03.1948 (B) 18.03.1948

(C) 11.11.1950 (D) 28.03.1949

TSTEAT — TEhIehTUT o YoM =07 § Ty Tl <hl TATIAT e 53 7

(A) 30.03.1948 (B) 18.03.1948

(C) 11.11.1950 (D) 28.03.1949

Where was the “Rajasthan Seva Sangh” established in 1919 with the contribution of Vijay
Singh Pathik, Ramnarayan Choudhary and Haribhai Kinkar ?

(A) Bhinmal (B) Raipur

(C) Alwar (D) Wardha

1919 H TS Far o <h T foorafig ufees, TrAmmer Stadl 3t g fhet &
FRTEH ¥ el §8 7

(A) T (B) TR

(C) 3R (D) @i
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(96) PL-2
INSTRUCTIONS / f5éa
(Read carefully and comply / &9 & 9§ &R e &%)
IMPORTANT / H&@qt

. In Section II (Language-I) a candidate has to attempt the questions of the language which the candidate has selected as Language-I in the
. In Section III (Language-II) a candidate has to attempt the questions of the language which the candidate has selected as Language-II in the

. The candidate must ensure that the Question Booklet Series Code and Shift No. has been filled correctly at the prescribed place in the

. The candidate has to answer of that subject in Section (IV a) Mathematics and Science or (IV b) Social Studies as selected by the candidate

Online Application Form.
Que 11 (WINT 1) | SHI W91 6 W] H T& FA di@d g f5a qmon 1 =97 avaefl 3 9 1 F w9 F e -0 7 e g

Online Application Form. The Language-II will be different from Language-1.
QU 11 (HTHT- ll)HdHMINIch&lbedlchlamchwlMIrMM&MHWNI%HQdSTWQﬁ_:TW TR ETH STTTTEA STTAG -T=TH {ShaTe | WIS - 11 AT - 18 fTe R |

OMR Answer Sheet. Your OMR Answer Sheet will be evaluated on the basis of Question Booklet Series Code and Shift No., not
B T B et T fiz 1 i

O 9 Y W A THE 5h. Ry | OMR ATC T {AThA
WA HI® T TGl Eﬁ%&ﬁ —%aﬁgwmw %Mq'(%mﬁﬁm|
in the Online Applicaton Form.
If a candidate answers the questions of the langu fe or subject other than selected in the Online Application Form, the candidate shall be
personally responsible_for it and it would be treated as wrong.
%waﬁaﬁ'{amﬁ' W%H%Hm IV a) TG Td fo= a1 (IV b) AT stega § gt fawa & wet a1 ga &1 &, fora fawm o1 sgm sremedi

ST S L
%f?hciwa ITATE ATeT-9 W FF(d WIS A7 f97 & U1 1 Bl 7 6<eh 79 (999 & W] 1 Bl &l € dl 98 A%A] &1 @ &7 ey
TAT T AT ST |

Read complete instructions carefully and fill the details from S1. No. 1 to 7 in the OMR Answer Sheet and Sl. No. 1 to 4 in the Question
Booklet. If you fail to fill the details and sign as instructed correctly, you will be personally responsible for the consequences arising during
scanma# of your OMR Answer Sheet.

ﬁw@%ﬁﬁ?m 197 76 OMR sfie ©a i 1%437:5113‘4 g%m(gﬁz)ﬁﬂi‘ | Ffe 39 Tod alieh | feaxo
‘w\ﬁtﬂsﬁn&r{aﬂﬁ% OMR sz &1 T & Feeasy g a/e TROMET & Wfd 39 @F JaRart ent
The Question Booklet comprises 96 pages having 150 questions. After being instructed to open the Booklet only then the candidates will open
the Question Booklet seals. Check whether the Booklet contains 150 questions starting from Page No. 3 to 90. The Shift Number required in
OMR Sheet will be as per admit card issued to the candidate and also mentioned on the top of the Question Booklet.
- H 96 I8 UF 150 U © | WA ey {3 M % ST € WeA-Yieash] ] €10 G | a8 gieiead & & fo geT-giedar 7 150
T € S R U8 we 3w wew 90 % €_| OMR sfie R farge Fwer srwedi @t I fohd T8 9av-u9 & ATER sifhd &A1 § TI A
AT h SO W R HT siferd feRar g1 R |
All questions are of MCQ (Multiple Choice Question) type. There is only one correct answer to each question carrying one mark. There
will be no negative marking for wrong answers.
FH T TEAFAT FFRF € | Tl T 1 U forehed € Hel § | 7l 0 % foodd faiiRa ofeh O 2 | ot arar o ford sorresren aies el fo omih |
All questions other than language questions of Sections II and Il shall be bilingual.
WH-UA & AT TR GU8 11 TF 111 & U o Srfaied A8 9t guet & us fgwmha g |
In any event of any mistake_in any question/s, candidates will not be penalized. However no corrections will be made in question/s during the examination.
Teret W | ferell Jfe o fosdr wi e a1 %&TWWW | IIETT <hT SFafer § WAl # Tohel YRR hT WML ET hearan
Rough work, if any, may be done in the Question Booklet only in the space provided at the end of the Booklet. Do not tear it off from the

uestion Booklet. No additional paper shall be prov1ded . ;

TR % TF h1d o W - feasht &317?[ H ST o1 T € | 38 WA -gfRqent & el e, | R wehr o srferfa st Suesy A€t s ST |
Use of Log tables, Calculator, Slide rule, Mobile phone, Pager, Digital diary, Bluetooth, Microphone or any other electronic item/instrument
etc. %sarrlv?t aa{lé)ﬂw@eg{ T%e%guse w%lt in dlas%_l{lahﬁcatlo%wﬁ et 3@?@'&&6 , i afia

TSSITee I, ATShIBIA AT 4 YHR HT SEE] Eal
%|3ﬂﬁa€¢qﬁnmqﬁm?m£ﬁfw%m AT B | e o
OMR Answer Sheet will be provided along wit ;%fﬁsuon Booklet separately.
OMR ¢§fie WsA-YfETRT & |19 (AT UG
The Question Booklet will be issued to the candidates 10 minutes before the start of examination and the candidate must fill all entries in OMR
Answer Sheet. The Question Booklet seal shall be opened 5 minutes before the start of examination and the candidate must fill  to4 entries correctly
on the Question Booklet. After opening the Question Booklet, ensure that any page/ question is not missing / not printed / torn / repeated. In case,
you find any defect anywhere in the Question Booklet, immediately inform the Invigilator and get it replaced within 5 minutes by the Invigilator.
Warnm Bell will rmg at 5 minutes before closer of examination and the last long bell will ring at closer of exammatlon
’;TS'"T— TR AT T & 1 fiee & g1 S | vl qragas ®9 8@ OMR Sfie § |9 giafsedt w1 6el ghR § W_| 99 -
qﬁwm% ﬁﬂz‘{j@ﬁammuw 1 ¥ 4 & fafsea 5t ﬂgﬁwﬁ‘%ﬁ |uaﬂ—g%w@aﬁ%qsamqﬁma‘fm
gﬁﬁ“a—craf{ W%/aﬁéqu&aﬁﬁ%/mt@%/ Tg T FARI I3 T ® | A wed-
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% firte d ool e stfeqw ot we aaen W TSR |
erte your Name, Exam Center Code Signature, Roll No., Question Booklet Serles Code, Shift Number and Question Paper Booklet Number
in the space prov1ded in the Questlon Booklet as well as in the OMR Answer Sheet.
g - mg OMR $fie R THEiRa €= R 7™, W &g T HIE, EATER, AHH, T-gas €10 &re, e FHis 6 q9 geasn
TR |
With each question you will find 4 possible answers marked by the letters A, B, C & D. Read each question carefully and find out which
answer, according to you is correct. Indicate your answer by darkening the appropriate circle completely in the OMR Answer Sheet corresponding
to the question. For marking answers use blue/blaek ballpoint pen only Gel pens/pencils are not allowed.

3T o IR dah(eI%h SR A, B, CI DH @I R | At ag IR T 97 3 IR bl OMR 8f1e & Gralfeerg wee shHieh o qaer
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Correct Method : [ corrECT /Wt Wrong Method : [ wrong/ 'RONG S S
NG / et WRONG /Ter WRONG /7o WRONG / TTei
ﬂé TR : GRED
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OMR Answer Sheet is designed for computer evaluation. If you donot follow the instructions given above and at the backside ofthe OMR Answer
Sheet, 1t m make evaluation b, computer dlfﬁcult Any resultant loss to the candidate on the abgve account shall be of the candidate only.
OMRS % )é? uﬁaﬂq?gﬁQ‘q'OMRsﬁzﬁ? R fe2 A fercart T ot ARt e, A HEEE IR STt
Iwwﬁqﬁmﬁaﬁ@ﬁaﬁw SEh! @I HY @%
No candldate should leave the examination hall before the final bell. The OMR Answer Sheet is carbonless in duplicate having perforation on the
left side. Candidate should detach carefully the Original Copy from the Candidate’s Copy (Duplicate) so that the Original Copy is not mutilated
in any way. Candidate should handover the Original OMR Copy and Question Booklet to the invigilator before leaving the examination hall.
Candidate can carry only the Candldate s OMR co w1th him/her. Question Booklet is not allowed to be taken by the candldate
qﬁwﬁaﬁm‘aﬁaﬁﬁ% e i A A OMRsﬁzaﬂzhr%ﬁ a?fﬁv %wéa
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